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Question Number : 1 Question Id : 64635025106 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0



Peer group interaction in a classroom helps in

(1) Concept understanding
(2) Realization of One's misunderstanding
(3) Rapport Building
(4) Questioning
Options:
64635098539, 1
64635098540, 2

645350958541, 3
645350395542, 4

Question Number : 1 Question Id : 64635025106 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535098539, 1
64535033540, 2
6483503938541, =2
64535095542, 4

Question Number : 2 Question Id : 64635025107 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

When the learning outcomes of students are ensured with employment of less resources and
effort on the part of a teacher and more imitiative for self-learning 15 evident, which of the

following expression will describe the teacher most appropriately?

(1) Teacher 1s successful (2) Teacher is effective
(3) Teacher is intelligent (4) Teacher 1s practical
Options:

645350958542, 1
E4E350398544. 2
E4535098545. 3
E45350958546. 4



Question Number : 2 Question Id : 64635025107 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535098543, 1
645350395544, 2
64535095545, 3
EAEZ509854E. 4

Question Number : 3 Question Id : 64635025108 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Reflective Practice implies use of one’s

(1) Cognition (2) Metacognition
(3) Metacognition on cognition (4) Renforcement of learning
Options:

645350398547, 1
64535095548, 2
E4E350398549. 3
E4E350398550. 4

Question Number : 3 Question Id : 64635025108 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535098547, 1
6453503958548, 2
64535095549, 3
E4E350398550. 4

Question Number : 4 Question Id : 64635025109 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Inclusive education implies

(1) Ensuring learning outcome of every child to be the same
2 Including the disabled in the main stream

(3) Provides compulsory education for children below 14 years
(4) Ensuring that no child is left behind in education

Options:

64535098551, 1
64535098552, 2
64535038553 =
64535033554, 4

Question Number : 4 Question Id : 64635025109 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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4525098551
64635098552,

E4535098553.
E4535098554.
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Question Number : 5 Question Id : 64635025110 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Listening is important for a teacher to

(1) address the requurement of the learner

(2) gain knowledge

(3) keep the learner in good humour

(4) evaluate the learner for the progress made
Options:

645350398555, 1
6453503958556, 2
E4E35038557Y. 3
E4E350398558. 4

Question Number : 5 Question Id : 64635025110 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

64535098555, 1
64535038556, 2
64835098557, 2
E4E35098558. 4

Question Number : 6 Question Id : 64635025111 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A hypothesis should be conceptually

(1) convoluted, complex and generic (2) complex, tough and general
(3) simple, clear and specific (4) obscure, complicated and simple
Options:

54535098559, 1
64535098560, 2
6453503958561, 3
64535095562, 4

Question Number : 6 Question Id : 64635025111 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535098555, 1
645350398560, 2
645350958561, 3
EAEZS098562. 4

Question Number : 7 Question Id : 64635025112 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



During research, while recording observations if an observer rates an individual based on
the rating given in another aspect of the interaction, this 1s termed as the

(1) Evaluation effect (2) Error of central tendency
(3) Halo effect (4) Categorical effect
Options:

645350398563, 1
64535095564, 2
E4E350398565. 3
E4E35098566. 4

Question Number : 7 Question Id : 64635025112 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E35098563. 1
64535098564, 2
6453503958565, 3
64535095566, 4

Question Number : 8 Question Id : 64635025113 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The study of ‘why does stressful living result in heart attack’? Can be classified as

(1) Descriptive research (2y Explanatory research
(3) Correlational research (4) Feasibility research
Options:

64535098567, 1
EAE35098568. 2
E4E35098569. 3
B4E535038570. 4

Question Number : 8 Question Id : 64635025113 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

UF AAI Ayl Siad o fow w0 gl ugar 27 @ e Soieg e s ean 27

(1) feETes g (2) =ARATHEF WY
(3)  HEHEAHE WY (4) wrean Hi

Options:



EAE35098567. 1
64535098568, 2
E4E535098569. 3
645350398570, 4

Question Number : 9 Question Id : 64635025114 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The formulation of a research problem can be compared to

(1) Laying the foundation of a building (2) Bulding the walls of a home
(3) Polishing the doors of a building (4) Constructing the ceiling of a house

Options:

4535098571, 1
64535098572, 2
64535038573 2
64535033574, 4

Question Number : 9 Question Id : 64635025114 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

B4535098571. 1
64535098572, 2
645350398573, 3
E4E35038574. 4

Question Number : 10 Question Id : 64635025115 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Mailed questionnaire, observation, interview and collective questionnaire are instances of

(1) Secondary sources (2) Personal sources
(3) Primary sources (4) Tertiary sources
Options:

64535098575, 1
645350398576, 2
64535098577, 3
EAE3509857E. 4

Question Number : 10 Question Id : 64635025115 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535098575 1
64535098576, 2
64535098577, o
64535038578, 4

Sub-Section Number: 2
Sub-Section 1d: 6463501236
Question Shuffling Allowed : Yes

Question Id : 64635025116 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Juestion Label - Comprehension

A business will usually go through a clear set of stages that will make up 1ts orgamsational
life cycle. These stages include introduction, early growth, continuous growth, maturity and
decline. The first stage, the introduction stage, i1z the start-up phase where a business
decides what its core strengths and capabilities are and starts selling its product or service.
At this early stage, the founder or founders will be a part of every aspect of the daily process
of the business. The main goal at this stage is to take off to a good start and make a place in
the market.

The next stage, the early growth phase, aims at increased sales and more development. The
focus at this stage remains on the original product or service but the effort 1s to increase the
market share and venture into related products or services. The main goal is to move the
founder to a more managerial role so more time is spent on managing and building the
business. At this stage, documents and policies need to be developed so any member of the
organisation can see the business any time.

The third stage, the continuous growth stage, requires a systematic structure and more
formal relationships among its participants. At this stage, the resource requirements of the
business need careful handling. The focus 18 on the expansion of the business, keeping in
mind its core strength and capability. A formal organisational structure and a clear
delegation plan are important at this stage.

At the fourth stage of maturity, a business often slows down as the level of innovative energy
may have become weak and the formal structures may have become obstacles. A lot of care 1s
required to prevent decline.

Sub questions

Question Number : 11 Question Id : 64635025117 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



When will a business create its place in the market?

(1) At maturity (2) At introduction
(3) At early growth (4) At late growth
Options:

E4E35098575. 1
EAE350398580. 2
E4535098581. 3
E4E53509858%. 4

Question Number : 12 Question Id : 64635025118 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The founder of a business does not move to a more managerial role at which stage?

(1) Early growth stage (2) Maturity stage
(3) Decline stage (4) Start up stage
Options:

645350398583, 1
E4E350398584. 2
E4E35098585. 3
EAE35098586. 4

Question Number : 13 Question Id : 64635025119 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Venturing into related products and services does not mean that a business will

(1) 1gnore the original product

(2) move the founder to a more managerial role
(3) delegate more responsibilities

(4) ignore the related products and services

Options:

4535098587, 1
64535098588, 2
64535038589, =
64535033590, 4

Question Number : 14 Question Id : 64635025120 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The resource requirements of a business need careful handling at which stage?

(1) Fourth (2) First
(3) Third (4) Second
Options:

E4E35098591. 1
E4E35098592. 2
6453503985583, 3
645350395594, 4

Question Number : 15 Question Id : 64635025121 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The slowing down of a business can happen if,

(1) there is a decline in the market share
(2) the level of innovative energy weakens
(3) the managerial roles are not clear

(4) the level of investment declines

Options:

645350938595, 1
E4E350398596. 2
64535098597, 5
64535098598, 4

Question Id : 64635025116 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Cesticn Label | Comprehension
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Sub questions

Question Number : 11 Question Id : 64635025117 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535098579,
64535098580,
4835093581,
4535098582,
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Question Number : 12 Question Id : 64635025118 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535098583, 1
4835098584, 2
E4E35098585. 2
64535028586, 4

Question Number : 13 Question Id : 64635025119 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535098587, 1
64535098588, 2
64535038589, =
64535033590, 4

Question Number : 14 Question Id : 64635025120 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E4E35098591. 1
E4E35098592. 2
6453503985583, 3
645350395594, 4

Question Number : 15 Question Id : 64635025121 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

645350938595, 1
64535098596, 2
64535098597, o
64535038598, 4

Sub-Section Number: 3
Sub-Section Id: 6463501237
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635025122 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Semantic barrier of communication 1s implied when the

(1) signal is lost before reaching the receiver

(2) message transmitted by the source 1s unclear

(3) receiver's attention is diverted

(4) receiver does not understand the meaning of the message
Options:

645350958599, 1
E4E35038600. 2
E4E350398601. 3
E4E350398602. 4

Question Number : 16 Question Id : 64635025122 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535098599, 1
4835093600, 2
4535098601, 2
4535038602, 4

Question Number : 17 Question Id : 64635025123 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following signifies non-verbal communication in an essential way?

(1) Instructions written on a question paper

(2) Learner attending an online class

(3) The dress code followed by an individual

(4) Yoga instructor teaching yoga poses to the pupils

Options:
425038603, 1

E4E35038604. 2
E45350398605. 3
E4E35098606. 4

Question Number : 17 Question Id : 64635025123 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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45250956803 1

E4E350398604. 2
E4535098605. 3
EAE35038606. 4



Question Number : 18 Question Id : 64635025124 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Asszertion (A) : Communication presupposes a shared, symbolic environment, a social
relationship even among non-participants

Reason (R): It leads to social interaction, which in combination with other factors
contributes to a sense of community.

Choose the correct option given below :

(1) Both (A) and (R) are true and R 1s the correct explanation of A
(2) Both (A) and (R) are true but R is not the correct explanation of A
(3) (A) 1g true but (R) 1s false

(4) (A) 1s false but (R) is true
Options:
64635098607 1
435098608, 2
E4EZE092609. 2
4235098610, 4

Question Number : 18 Question Id : 64635025124 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535098607, 1
4835038608, 2
4535095609, 5
64535098610, 4

Question Number : 19 Question Id : 64635025125 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following 1s a stage of intrapersonal communication?

(1) Phatic stage

(2) Intimate stage

(3) Personal stage

(4) Transcendental communication

Options:
4535095611, 1

E4EZ509861Z2. 2
E4E350398613. 3
E4E5350958614. 4

Question Number : 19 Question Id : 64635025125 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E35098611. 1
E4E35098612. 2
64535098613, 3
6453503958614, 4

Question Number : 20 Question Id : 64635025126 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s a characteristic of modern mass media?

(1) Capital intensive (2) Labour intensive
(3) Sustainable (4) Developmental
Options:

64535098615, 1
645350398616, 2
645350958617, 3
E4EZ509861E. 4



Question Number : 20 Question Id : 64635025126 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350958615, 1
E4E35038E1E. 2
EAE35098617. 3
E4E5350986158. 4

Question Number : 21 Question Id : 64635025127 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If RED 1s coded as 6720, then how would GREEN be coded?

(1) 16717209 (2) 1677209
(3) 9207716 (4) 1677199
Options:

B4535098615. 1
64535098620, 2
6453503958621, 3
EAE3S098622. 4

Question Number : 21 Question Id : 64635025127 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

afg RED #1 gz wmt | 6720 foman 5@, d@t GREEN &t fora wahn geag foran smom ?

(1) 16717209 (2) 1677209
(3) 9207716 4) 1677199
Options:

645350958619, 1
E4E35098620. 2
E4E35098621. 3
BAEZS098622. 4



Question Number : 22 Question Id : 64635025128 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If 0.75 2 = 0.02 y, then the value of [T_x] is

Y+ X
73 75
1 = oy e
@ 75 @ T
73 730
3 —= |t
(3) = (4) 75
Options:

E4E35098623. 1
E4E535098624. 2
645350958625, 3
E4535095862E. 4

Question Number : 22 Question Id : 64635025128 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AR 0.75x =002y &, & 2= & aF :

y+x
73 75
1 — o o=
i 75 ) T7
73 730
3 — 7, 1 =
©) T7 @ 1D
Options:
64535098623, 1
64535038624, 2
4835098625 2
4535098626, 4

Question Number : 23 Question Id : 64635025129 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If the average of five numbers 18 —20 and the sum of three of the numbers 15 32, then what 1s
the average of the other two numbers?

(1) 66 (2) 33
(3 34 4 -132
Options:

645350398627, 1
EAE3503862E. 2
EAE35098629. 3



EAE350398630. 4

Question Number : 23 Question Id : 64635025129 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gfe gie STl 1 SAida —20 2, A7 FH 8§ fF et & 9 32 #, 91 999 &1 Gl # AEd 3491
27

1 66 (2) -33
@ -84 @ -132
Options:

645350398627, 1
E4535098628. 2
E4EZ5098629. 3
E4E35098630. 4

Question Number : 24 Question Id : 64635025130 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A man travelled from the village to the railway station at the rate of 20 Kmph and walked
back at the rate of 5 kmph. If the whole journey took 5 hours, find the distance of the raillway
station from the village.

(1) 10 km (2) 15km
@) 20km (4) 40 km
Options:

645350398631, 1
64535098632, 2
E4E35038633. 3
E4E35098634. 4

Question Number : 24 Question Id : 64635025130 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

F1E =Afqa ma & Iag €29H F A 20 kmph 81 F Far 2 au a9y 5 kmph # 20 & e 21 3@
=Y AT H 3 5 uE W 2, o M ¥ td 22w i gft wma fifsig |

(1) 10km (2 15km
(3) 20 km (4) 40 km

Options:

64535093631 1

E4EZ5038632. 2

E4E25038633. o

64535035634, 4

Question Number : 25 Question Id : 64635025131 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A trader mixes three varieties of refined oil costing Rs. 100, Rs. 40 and Rs. 60 per litre in the
ratio 2 : 4 : 3 in terms of litre, and sells the mixture at Rs. 66 per litre. What percentage of
profit does he make?

(1) 12% (2) 10%
(3) 9% 4) 8%
Options:

645350398635, 1
E4E3503863E6. 2
EAE3509863Y. 3
E4E35098638. 4

Question Number : 25 Question Id : 64635025131 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

s M 100 &., 40 & a9 60 . ufd e i ara gt 7 9wR & {iwEee ad & e & 1g |
2:4:3 Fud # e 2 A 3u feor #9166 &, ufa ofier i g & S=ar 21 30 feaq wfowa &1 amw

g1 27
(1) 12% (2 10%
(3) 9% @) 8%

Options:

64535098635, 1
64535038636, 2
64535038637, 2
E4E350398638. 4

Question Number : 26 Question Id : 64635025132 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

No Musicians are Japenese
All Barbers are Musicians

No Barbers are Japenese
Identify the Middle Term in the above syllogism

(1) Subject in the first premise and predicate in the second premise
(2) Predicate in the first premise and subject in the second premise
(3) Predicate in the both premises

(4) Subject in both the premises

Options:



E4E35098639. 1
645350958640, 2
645350958641, 3
645350395642, 4

Question Number : 26 Question Id : 64635025132 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FIS TR ST 2 2 |
aaft A1 wfiaen £
F13 A8 S A 2 |
IE{F rared | "eAus 6l ugee i
(1) 92 19r a&g J Fdl A1 gt e a | a9
(2)  UEe A9R aEd i e ot gul enaw A o i
(3)  2Fi wnar aEdl d faga
(4)  @FT A19E FEEl H Fi

Options:

64535098639, 1
E4E350393640. 2
4535098641, =2
64535028642, 4

Question Number : 27 Question Id : 64635025133 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Inductive argument proceeds from

(1) Unuversal to Particul ar
(2) Particular to Universal
(3) Universal to Universal

(4) Particular to Particul ar

Options:

645350938643, 1
E4E350395644. 2
E4535095645. 5
64535098646, 4



Question Number : 27 Question Id : 64635025133 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HANTHATHS o (8 78 399 21 27

(1)  =ewtfEs o fafsmee
(2)  fafve o geEwims

@)  adifEe & o
(4)  fafse o fafsw

Options:
4535095643 1

E4E35098644. 2
E4E350398645. 3
EAE35095864E. 4

Question Number : 28 Question Id : 64635025134 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Among the five friends, Vineet 1s taller than Momka, but not as tall as Ram. Jacob 1s taller
than Dalip but shorter than Monika. Who is the tallest in their group?

(1) Ram

(2) Monika

(3) Vineet

(4) Jacob
Options:

E4E35098647. 1
645350958648, 2
645350395649, 3
6453503958650, 4

Question Number : 28 Question Id : 64635025134 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e gl ¥ fada aife o aven 2 cfes o e @ AF 21 S gefiv 8 dan 2 iR Al o
Diel 2| BH T | wed el A 27

(1) ™

@ =
(3) ferdia
CV

Options:

4835098647, 1
4535098648, 2
64535028649, o
64535098650, 4

Question Number : 29 Question Id : 64635025135 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Consider the example given below :
Devadatta i1s growing fat.
He does not eat food during the day.
Therefore, He must be eating food during the night, other things being equal.

Identify the logic invelved in the example provided above by choosing the correct answer
from options given below :

(1) Arthapatti (2) Anupalabdi
(3) Anumana (4) Sabda
Options:

E4E35098651. 1
E4E35098652. 2
E45350398653. 3
645350395654, 4

Question Number : 29 Question Id : 64635025135 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



=1 fou sgrem w foEm i

gae |l 21 @ 2|
oe fea o g 421 | 2
T,
g2 Td @l WHT |rar 20,
4 |1 THHE & 20 |
el fou e, Reen € dgmda 4 Iugad e Figd gk $i vgam fifsg )
(1) A4 (2) wuafey
(3)  FHA (4) =g

Options:
4235098651, 1

E4E35098652. 2
E45350398653. 3
E4535098654. 4

Question Number : 30 Question Id : 64635025136 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Consider the argument provided below :

“Sound 1s permanent because it 1s a product hike the jar”.

Identify the fallacy involved in the above argument on the basis of Indian logic from the
options given below.

(1) Fallacy of contradictory reason (2) Fallacy of wrong assertion
(3) Fallacy of irrelevant reason (4) Fallacy of trivial reason
Options:

645350398655, 1
E4E3503865E. 2
EAE35039865Y. 3
E4E35098658. 4

Question Number : 30 Question Id : 64635025136 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



fi=1 fau @ o femm Hifsg
e curlt & HdifE 98 s i @E A I E,
A= w71y, forepcedi @ WA deh < SArar 9t 3udad a H [iza amean i gg=e fifs;

(1)  faame aF arer garys (2) HaE ANFE ¥ SR gayE
(3)  AWAg T B gATHN (4) q=8 9% B U
Options:

64535098655, 1
6453503958656, 2
64535098657, 3
EAEZ509865E. 4

Sub-Section Number: 4
Sub-Section 1d: 6463501238
Question Shuffling Allowed : Yes

Question Id : 64635025137 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Cuesticon Label | Comprehiension

Consider the following table that shows the production of fertilizers by a company (n 10000
tonnes) during the year 2011 to 2018.

Answer the questions based on the data contained i1n the table :

Year : 2011 | 2012 | 20183 | 2014 | 2015 | 2016 | 2017 | 2018
Production of Fertilizers : 35 50 70 55 = 60 85 90
Sub questions

Question Number : 31 Question Id : 64635025138 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In how many of the given yvears was the production of fertilizers more than the average
production of the given years?

€ 2 2) 8
@3 4 @ 5
Options:

E4E35098659. 1
E4E535098660. 2



EAE350986E1. 3
EAE35098662. 4

Question Number : 32 Question Id : 64635025139 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What was the percentage decline in the production of fertilizers from 2013 to 20147

(1)  20.4% (2) 21.4%
3)  22.6% @) 24.2%
Options:

E4E35098663. 1
E4535098664. 2
6453503958665, 3
E453509566E. 4

Question Number : 33 Question Id : 64635025140 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What was the approximate percentage increase in production of fertilizers in 2018 compared
to that in 20117

(1) 157% 2) 165%
(3) 177% 4) 182%
Options:

B4E535098667. 1
645350398668, 2
64535095669, 3
EAEZ5098670. 4

Question Number : 34 Question Id : 64635025141 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which year, the percentage increase 1n production as compared to the previous vear was
maximum?

(1) 2012 (2) 2013
(3) 2015 (4) 2018
Options:

64535098671, 1
E4E35098672. 2
EAEZ5098673. 3
EAE35098674. 4

Question Number : 35 Question Id : 64635025142 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

The average production of 2012 and 2013 was exactly equal to the average production of
which of the following pairs of vears?

(1) 2011 and 2012
(2) 2011 and 2017
(3) 2012 and 2014
(4) 2015 and 2016

Options:

64835098675, 1
E4E3E098676. 2
64535038677, o
4535098675, 4

Question Id : 64635025137 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label | Comprehension

f=fcfiga arfaen w femm Sifse, St ad 2011 - 2018 @ sfte &9 % 39 I9EA (10000 27) I g9riarn
2

ay 2011 | 2012 | 2013 | 2014 | 2015 | 2016 | 2017 | 2018

33TH FI IEA a5 50 70 55 75 60 85 90

Sub questions

Question Number : 31 Question Id : 64635025138 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

feu mu fera &Nt § 3R 1 3cq1eq fu o ant & e Icaed o Afeew ar?

(2 & a8
(3) 4 @ 5

Options:

64535098659, 1
64535038660, 2
64535038661, =
E4E350356E2. 4

Question Number : 32 Question Id : 64635025139 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

2013 % 2014 9% 34T F 3c9eA H Tora gfavia Trmae i ?

(1)  20.4 vfas@ (2) 21.4 gfdwE
(3) 22.6 Ffawrd (4) 24.2 yfawE

Options:

64535098663, 1
E4E35098664. 2
64535035665, 5
4535038666, 4

Question Number : 33 Question Id : 64635025140 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

2 2018 <1 g1 | A 2011 § 36Tl + IeUreT | gig = wfdera s e on?

(1) 157% (2) 165%
(3) 177% (4) 182%

Options:

64535098667, 1
4835038668, 2
4535098669 2
4535028670, 4

Question Number : 34 Question Id : 64635025141 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fore = 4 3carga | gfg @ ufdwd fea ara $i gamn d safteras or?

(1) 2012 (2) 2013
(3) 2015 4 2018

Options:

64535098671, 1
64535038672, 2
4835098672 2
E4E35098674. 4

Question Number : 35 Question Id : 64635025142 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fFeferfiga awl % gra | O fror Sdd 3caed | 2012 R 2013 % iHd IemeA & faoge gam ar?

() 2011 @R 2012
(2 2011 R 2017
(3) 2012 %N 2014
4 2015 #N 2016

Options:

64535098675, 1
64535038676, 2
64535038677, 2
4835098678, 4

Sub-Section Number: 5
Sub-Section 1d: 6463501239
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635025143 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the following :
Set I Set 11
(a) First Generation (1) Transistor
(b) Second Generation (11) VLSI microprocessor
(c) Third Generation (1) Vacuum tube
() Fourth Generation (1v) Integrated circuit

Select the correct option from the following :

(a) (b) (© (d)

(1 @) ) @ (11)
@ () (1) av) (11)
3 () (1) (1) ()
@ @ (i11) @) (i1)
Options:
64635098679, 1

E4E350386E80. 2
EAE35098681. 3



EAE35098682. 4

Question Number : 36 Question Id : 64635025143 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

feffiga =+ gafaa fifsw
e ol e - 10
(@ s @ glisteet
b  fedi did (i) al Ut U 15 WIS

(€ g e (iii) IHH 2
(d)  =neft figt (iv) zémfez ufdz
Ferferfiga 9 @ @& 391 1 =@A Fieo

(a) (b) ©) (d)

@ ) av) @) (1)
@ @ @ (1v) (1)
@ @) @ 1) av)
@ o (111) (1v) (1)

Options:
EAEZE098679.

EAEZS0986E80,
E4E35098681.
EAE35098682.

[ N

Question Number : 37 Question Id : 64635025144 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
One TeraByte (TB) of memory is equal to

(1) 1024 KB

(2) 1024 x 1024 KB

(3) 1024 x 1024 x 1024 KB
4) 1024 x 1024 x 1024 Bytes

Options:



EAE35098683. 1
E4535098684. 2
E4535038685. 3
64535095686, 4

Question Number : 37 Question Id : 64635025144 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

U aEEe (TB) 99 feas aqH 27

(1) 1024KB

(2) 1024 x 1024 KB

(3) 1024 x 1024 x1024 KB
(4 1024 x 1024 %1024 Bytes

Options:
E4E2E095683. 1

EAE35098684. 2
E4535098685. 3
EAE350986586. 4

Question Number : 38 Question Id : 64635025145 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A/An 18 a computer program that spreads by inserting copies of itgelf into other
executable code or documents.

(1) Operating System (2) Computer Virus
(3) Firewall (4 Anti-virus
Options:

EAE35098687Y. 1
E4E535098688. 2
E4E535098689. 3
645350395630, 4

Question Number : 38 Question Id : 64635025145 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

U L U 2 Sl ST Yol AU w0 wie J Al sfafafiat sasniia w1
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(3)  wELHEA 4) uf amE



Options:

64535098687, 1
4835038688, 2
4535098829 2
64535028690, 4

Question Number : 39 Question Id : 64635025146 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Audio and Video compression, the term RGE means

(1) Red, Grey, Blue (2) Red, Green, Blue
(3) Red, Green, Black (4) Red, Grey, Black
Options:

6453503986391, 1
645350958632, 2
E4E3503986393. 3
E4E350986394. 4

Question Number : 39 Question Id : 64635025146 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Atz «dh difzdr Fvw & ROB 1 wAfiuy 2

(1) &, 4, s (2) &, ¥H,sq
(3) g, i1, =iF 4) g, 7, =i

Options:

45350938691, 1
64535038692, 2
64535038693, =
64535035694, 4

Question Number : 40 Question Id : 64635025147 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 1s not a’an web browser?

(1) Internet Explorer (2) Mozilla Firefox
(3) (Google chrome (4) Yahoo
Options:

E4E3503986595. 1
E4E3503986396. 2
E4E350986597. 3



EAE35098639E. 4

Question Number : 40 Question Id : 64635025147 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

F=fafiaa | 9+ a9 J1Een A8 27
(1) 326z = (2) HIRTAT $PR FiaE
(3) T B @ IR

Options:

64535098695, 1
64535038696, 2
645350338697, 2
4835035698, 4

Question Number : 41 Question Id : 64635025148 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The target set by Indian government for generating power from wind energy by the vear
2022 is

(1) 60 GW (2) HB0GW
(3) 40 GW 4) 15GW
Options:

B45350986595. 1
645350358700, 2
645350358701, 3
EAE3503870Z. 4

Question Number : 41 Question Id : 64635025148 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A 2022 a4 95 Fo01 U foeTel 3001 F1 % ol Ui 50RE A 9491 aey Haifia frar 27

(1) 60 GW (2) 50GW
(3) 40 GW @) 15GW

Options:

45350986990, 1
64535098700, 2
64535038701, =
64535033702, 4

Question Number : 42 Question Id : 64635025149 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Which pollutant i1s the major source of marine pollution?

(1) Agricultural run-off
(2) Oil spill

(3) Industrial waste water
(4) Sewage

Options:

4535098703 1
64535028704, 2
64535038705, =
64535038706, 4

Question Number : 42 Question Id : 64635025149 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TN TG TG SET ] HelH ST Hi 27
1)  FN AvEE

2 9 fmE

(3)  lenfies s S

4)  dHes

Options:

64535098703, 1
4835098704, 2
4535098705 2
64535028706, 4

Question Number : 43 Question Id : 64635025150 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Permafrost 1s defiming characteristic of which biome?

(1)  Taiga (2) Tundra
(3) Grassland (4) Desert
Options:

E4E350398707. 1
645350358708, 2
6453503958709, 3
64535095710, 4

Question Number : 43 Question Id : 64635025150 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

eI fopm arg <6 fasian <1 saman 27
(1) &m @) T
(3) = % HgH (4) TSR

Options:

4535098707, 1
64535098708, 2
64535038709, =
64535038710, 4

Question Number : 44 Question Id : 64635025151 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The mangroves exist in

(1) Fresh water system (2) Temperate areas
(3) Semi-arid areas (4) Saline waters
Options:

E4E35098711. 1
EAE35039871z2. 2
E4E35098713. 3
645350958714, 4

Question Number : 44 Question Id : 64635025151 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fed aEdTd FaEl Hadt 27
(1)  are S gomedt (2) HamET
@) ALY AT (4) @ S

Options:

64635098711, 1
64535038712, 2
64535038713 2
4835098714, 4

Question Number : 45 Question Id : 64635025152 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Chemical oxygen demand in eutrophic water is

(1) Low
(2) High
(3) Medium

(4) Extremely low

Options:

64635098715, 1
E4E35098716. 2
4535038717, 5
64535098718, 4

Question Number : 45 Question Id : 64635025152 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Perfeer Sict | Ffbepar waradts <l | St 2-

1 =

(2) I

(3) HETH

(4)  felopet HH

Options:

64635098715, 1
E4E35098716. 2
4535038717, 5
64535098718, 4

Question Number : 46 Question Id : 64635025153 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In which era given below, ligher education in India got a set back?

(1) British Era (2) Buddhist Era
(3) Mughal Era (4) Post-Independence Era
Options:

645350958719, 1
EAEZ5098720. 2
B4E35098721. 3
BAE35098722. 4



Question Number : 46 Question Id : 64635025153 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A= feu U e i | W | R 0 geR e
(1)  fafen == (2) @ig
3) g FA (4) EETEA HA

Options:
E4E250957159. 1

EAEZ5098720. 2
B4E35098721. 3
BAE35098722. 4

Question Number : 47 Question Id : 64635025154 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which year the modern Indian University got established?

(1) 1957 (2) 1857
(3) 1947 4) 1964
Options:

64535098722, 1
EAE35098724. 2
EAE350398725. 3
BAE35098726. 4

Question Number : 47 Question Id : 64635025154 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 1957 (2y 1857
(3) 1947 4) 1964
Options:

B4E535098723. 1
6453503958724, 2
6453503958725, 3
EAE350387ZE6. 4

Question Number : 48 Question Id : 64635025155 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The report of which of the following Education Commissions carries the sub-title Education
for National Development’?

(1) Radhakrishnan Commission
(2) Mudaliar Commission
(3) Calcutta University Education Commission
(4) Kothart Commission
Options:
G4E635098727. 1
64635098725, 2

6453503958729, 3
6453503958730, 4

Question Number : 48 Question Id : 64635025155 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frafafaa @ & T foem s 6t § swis e famm & fou far g mran?
(1)  TIEFH SATE
2)  wefeEm s
(3)  waIwl favaiageE g Ame
4)  FIBR A

Options:
E4EIL0387Z7.

EAE3S0987ZE.
EAE35098729.
EAE35098730.

[ N

Question Number : 49 Question Id : 64635025156 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The expansion of SANKALP 1s,

(1) Sanskrit Awareness and Knowledge Acquisition of Language Programme
(2) Skills Acquisition and Karatae Awareness for Livelithood Promotion

(3) Skills Acquisition and Knowledge Awareness for Livelihood Promotion

(4) Sanskrit Awareness and Knowledge Acquisition for Livelihood Promotion

Options:

64535098731, 1
64535038732, 2
483503987332 2
45350927324 4



Question Number : 49 Question Id : 64635025156 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SANKALP I fa%ar 2

(1) O FE T ATt ufaasiv A% das s
(@) T, TSI W FE AEHE B dEacdigs THEH
(3)  forcn, wEdNNE e qiel AeaTE 1 dEadigs SHeH
(4)  TEFG AT T A v B dgdedige JHeH

Options:

4635098731, 1
64535098732, 2
64535038733 2
64535038734, 4

Question Number : 50 Question Id : 64635025157 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following statements best explains the concept of sustainable development?

(1) Use of natural resources minimally
(2) Use of natural resources for our benefit
(3) Use of natural resources judiciously o that they are available for future generations
(4) Preserve our natural resources for our future generation
Options:

E4E350398735. 1
EAE350398736. 2
E4E35098737. 3
645350958738, 4

Question Number : 50 Question Id : 64635025157 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535098735, 1
4835038736 2
E4E35098737. 2
64535028728, 4

PART II Tourism Adrministration and Management

Section Id :

Section Number :

Section type:

Mandatory or Optional:

Number of Questions:

Number of Questionsto be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

646350504
2

Online
Mandatory
92

92

200

Yes

No

1
6463501240
Yes

Question Number : 51 Question Id : 64635025158 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0



With regard to the evolution of Airline Industry, which of the following statements are
correct?

(a) Kitty Hawk, North Carolina 1s known for the beginming of aviation age.
(b) Date of the beginning of aviation age is December 17, 1903.

(¢) Orville and Wilbur Wright launched the aviation age when Orville made the first
controlled, sustained flight in a motorized, heavier-than-aircraft.

(d) The famous first flight lasted less than one hour.

Select the correct answer from the options given below :
1. (a), (b) and (d) only
2. (a)and (b) only
3. (a). (b)and (c) only
4. (a), (b),(c), (D

Options:
435093739,

EAE35038740,
EAE35098741.
BAE3509874z2.

[ N S

Question Number : 51 Question Id : 64635025158 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



famm Y91 F S Hite Rer & d6y § Fuiif@d § 3 $9-3 sy 98 22
(a) Tpel gl, T FRIeT 3! A= g1 S R & o =1 o 21
(b) = g & Ry &t Al 8 17 feaw, 1903 B

(¢) iAW MR e 3T 3 I9 0y R o1d 1 R a1 o9 Sikfad 3 AR g,
BfR-37- weRe e (M) famr) A wuw Rafia ok 9ad 38 43|

(d) vRE TYH IS U ¢ A HH IHG TF T
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1. &d9d(a), (b) 3R (d)
2. &Had (a) 3R (b)

&ad (a), (b) 3R (c)
4. (a), (b), (), (@

P

Options:

64535098739, 1
64535038740, 2
E4E350398741. 2
4535092742 4

Question Number : 52 Question Id : 64635025159 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

For which of the following literary works, Rabindranath Tagore was given Nobel Prize
for literature in 19137

1. Gora
2. Geetanjali
3.  Kabuliwala
4 Mukut

Options:

4535098743,
64535098744,
64535093745,
E4E35093746,

[ N

Question Number : 52 Question Id : 64635025159 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. 7RI

2. Tiarefd
3. @gdiar
4. H3I<

Options:

E4E35098743. 1
64535095744, 2
64535098745, o
64535038746, 4

Question Number : 53 Question Id : 64635025160 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Under the “Adopted Heritage Project Momuments” scheme, a few momuments in India

have been given to the bidders. Below are given the names of the monuments and
bidders who won the bid.

Which of the following pairs of monuments and bidders are correct?

Mornuments Bidders
(a) Red Fort, Delhi : Dalmia Bharat Ltd.
(b) Mt. Stok Kangr Trek (Ladakh) : Adventure Tour Operators
Association of India
(c) Jantar Mantar, Delhi : Apeejay Park Hotels
(d) Surajkund, Haryana . Bliss Resorts

Select the correct answer from the options given below :
L. (@), (®),(c) (d
2. (a), (c) and (d) only
3. (c)and(d)only

4. (a)and (b) only

Options:
4835098747, 1
435098745, 2



E4E350398749. 3
E45350358750. 4

Question Number : 53 Question Id : 64635025160 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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L (a), (b), (c), (D)

2. T (a), (c) 3R (d)

3. &ad (c) 3R (d)

4. BT (a) IR (b)

Options:

64535098747, 1
64535038748, 2
64535033749, 2
E4E35092750. 4

Question Number : 54 Question Id : 64635025161 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following 1s NOT a folk dance of Assam?

1. Bihu
2. Sattriya
3.  Rengma

4. Bagurumba

Options:

4635098751, 1
64535098752, 2
64535038753 2
64535038754, 4

Question Number : 54 Question Id : 64635025161 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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2. IoaE
3. I
4. 9ATEAl

Options:

64835098751, 1
64535098752, 2
64535098752, o
64535038754, 4

Question Number : 55 Question Id : 64635025162 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following monuments are NOT situated 1n Agra?
(a) Itimad-ud-daula’s tomb
(b) Roza-1-Munawwara
(¢) Hawa Mahal
(d) Qubbat-ul-Islam Mosque
Select the correct answer from the options given below :
1. (c)yand (d)only
2. {a)and (c) only
3.  (b),(¢)and (d) only
4. (b) and (d) only

Options:

4535098755, 1
64535038756, 2
64535038757, 2
64535033758, 4

Question Number : 55 Question Id : 64635025162 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(b) T GFR

(¢c) EaIHEgd

(d) P=d-3d-35H AfEG

i fou o fawedt & @ 9 SR
1.  &ad (c) 3R (d)
2. a4 (a) AR ()
3. &aa (b, (o) AR ()
4.  @ad (b) 3R (d)
Options:

E4535098755. 1
E4535098756. 2
64535038757, 3
645350395758, 4

Question Number : 56 Question Id : 64635025163 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following books 1s written by Mahatma Gandhi?
1.  The Discovery of India
2. The Story of My Experiments with Truth
3. Glimpses of World History

4. Towards the Freedom—An Autobiography

Options:

64535098759, 1
4835038760 2
4535098761, 2
4535038762, 4

Question Number : 56 Question Id : 64635025163 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535098759, 1
64535033760, 2
E4E350398761. 2
E4E350987E2. 4

Question Number : 57 Question Id : 64635025164 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following pairs 1s NOT correctly matched?

Temple Place
1. Jain Temple : Mt. Abu
2.  Jagannath Temple : Bhubaneshwar
3.  Sun Temple : Osia
4.  Kandariya Mahadev Khajuraho
Temple

Options:

E4E350987E3. 1
64535028764, 2
64535098765, o
64535038766, 4

Question Number : 57 Question Id : 64635025164 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64635098763, 1
E4E35038764. 2
4535098765 2
4535098766, 4

Question Number : 58 Question Id : 64635025165 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is the landmark year of publication of ‘Caring for the
Earth’, published by Worldwide Fund for nature, United Nations Environment
Program?

. 1952
2. 19293
3. 1991
4. 1982

Options:

64535098767, 1
E4E3S0387EE. 2
64535098769, 5
4535098770, 4

Question Number : 58 Question Id : 64635025165 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L. 1992
2 1993
3 189]

4, 1982

Options:

64535098767,
4835093768,
4535093769,
4535098770,

o LIPS

Question Number : 59 Question Id : 64635025166 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Lok Sabha has passed the Ancient Monumenis and Archaeological Sites and Remains
(Amendment) Bill, 2017.

From the following, select the one that has been amended :

1. The Bill amends provision related construction in ‘prohibited areas’ in the
present bill to permit construction of public works in “prohibited areas’ for
public purposes.

2. The amended provision of construction of ‘public works® in prohibited
areas could be implemented only after ASI’s approval.

3.  National Monuments Authority does not have any role in granting the
permission of construction in the ‘prohibited areas’.

4. The Central Government i1s empowered to allow the construction in
‘prohibited areas’ without the recommendation of National Monuments
Authority.

Options:

4535098771, 1
E4E35038772. 2
645350987732, o
64535038774, 4

Question Number : 59 Question Id : 64635025166 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

4535098771, 1
4535038772 2
64535038773, 2
64535038774, 4

Question Number : 60 Question Id : 64635025167 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following monuments have been declared of national importance in 2018
by ASI?

(a) Old High Court Building, Nagpur
(b) Haveli of Agha Khan, Agra
(¢) Neemrana Baor, Alwar district
(d) Group of temples at Ranmipur Jharail, Ornissa
Select the correct answer from the options given below :
1. (a), (b)and(d) only
2. (a), (c) and (d) only
3. (b),(¢)and(d) only
4. (a), (b), (c), (d)

Options:
4235098775, 1



EAE35038776. 2
BAE35038777. 3
64535098778, 4

Question Number : 60 Question Id : 64635025167 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

4535098775, 1
64535038776, 2
64535038777, 2
64535038778, 4

Question Number : 61 Question Id : 64635025168 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In India, pan or bira had variety of dimensions. In this regard, which of the following
are correct?

(a) Gift of pan with other ingredients was part of hospitality.

(b) A Sanskrit witticism states, “Oh friend, there are a hundred-thousand good

qualities of tambula. It has, however, one great fault, viz. the sending away (of
guests) after its bestowal.”

(¢} To offer pan bira by a sovereign power and to accept it by other sovereign chief,
meant acceptance of former’s suzerainty by the latter.

(d) Both in courts and in wealthy homes, gift of tambula was customary to honour
guests at the time of their departure.

Select the correct answer from the options given below :
L. (a), (b), (), (D
2. (a),(c) and (d) only
3. {(a)and (b)only

=

(b) and (d) only
Options:

645350393773, 1

64535093780, 2

64535098781, 2

EAR3E0987ER. 4

Question Number : 61 Question Id : 64635025168 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
E4E35098779. 1

E4E35038780. 2
EAE350398781. 3
BAE35098782. 4

Question Number : 62 Question Id : 64635025169 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Identify the State where following tourist sites are situated :
(a) Pari Mahal
(b) Ram Das Kachwaha’s Macchi Bhawan Garden
(¢) Charar-1 Sharf
(d) Chashma-i Shahi
Select the correct answer from the options given below
1. Rajasthan
2. Bengal
3.  Jammu and Kashmir

4. Uttar Pradesh

Options:

64835098783, 1
E4E35098724. 2
45350987385, 5
4535098786, 4

Question Number : 62 Question Id : 64635025169 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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EAE35098783. 1
645350958784, 2
64535038785, 3
645350395756, 4

Question Number : 63 Question Id : 64635025170 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which of the following cities, a working paper on ‘health tourism’ was presented,
discussed and finally findings of this study were published?

|8 Brussels
2.  Budapest
= Moscow

4, Stockholm

Options:
E4AE2E095787. 1

EAE35039878E. 2
E4E35098789. 3
BAE5350958730. 4

Question Number : 63 Question Id : 64635025170 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

4535098787, 1
64535098788, 2
645350387389, 2
64535033730, 4

Question Number : 64 Question Id : 64635025171 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following organizations had commissioned the study of Exploring Health
Tourism?

1.  World Travel Orgamzation
2. European Travel Commission

3.  World Tourism Organization and European Travel Commission

4.  International Medical Travel Journal and World Travel Orgamzation

Options:

64535098791, 1
64535038732, 2
64535038793 2
48350395794, 4

Question Number : 64 Question Id : 64635025171 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535098791, 1
4835098732 2
4535098792 2
64535028794, 4

Question Number : 65 Question Id : 64635025172 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following countries is located in Scandinavia?

1. Poland
2. Norway
3.  Finland
4. Portugal

Options:



E4E350987395. 1
B4E5350398736. 2
B4E35038737. 3
645350395738, 4

Question Number : 65 Question Id : 64635025172 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

4535098795, 1
64535098796, 2
64535038737, 2
64535033738, 4

Question Number : 66 Question Id : 64635025173 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
China began relaxing its frade policy in 1978, and opened its doors for foreign
companies. Which one of the following Western brands entered the country in 19797
1. KFC
2. Pizza Hut

5. Coca-cola

4. Kodak

Options:

4350957499, 1
64535028800, 2
64535098801, =
64535038802, 4

Question Number : 66 Question Id : 64635025173 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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E4E350398795,
45350398800,
E4E35098801.
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1 67 Question Id : 64635025174 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Seychelles 1s located in which IAT A sub-area?

I

2.

Options:

E4E350398803.
45350398804,
E4E35098805.
E4535098806.

Question Number

Indian Ocean Islands
Caribbean Islands
South-East Asia

South-West Pacific

L N

1 67 Question Id : 64635025174 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O
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E4E35098803. 1
64535098804, 2
E45350398805. 3
64535038806, 4

Question Number : 68 Question Id : 64635025175 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which year the Planning Commission of India constituted the National Commuttee on
Tourism 1n order to formulate plans for Tourism industry?

1. 1940
2, 1960
3. 1986
4. 1983

Options:

64535098807, 1
64535038808, 2
4835098809 2
4535092810 4

Question Number : 68 Question Id : 64635025175 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ferg a¥ H HRA & IISFT STE = Gle I @ forg a1 FuRor & fog a9 wdes afufa
B 113+ fobdn Ur?

1. 1940
2. 1960
3. 1986

4. 1983
Options:
64535098807, 1
64535033808, 2
645350338049, 3
64535093810, 4

Question Number : 69 Question Id : 64635025176 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following organisations in  chronological order of their
establishment/formation.

(a) International Eco-tourism Society
(b) International Union for Conservation of Nature
(¢) United Nations Educational, Scientific and Cultural Organisation
(d) United Federation of Travel Agents Association
Identify the correct answer from the options given below :
1. (a),(b),(c), (d)
2. (0. @
3. (a),(0),(b), (d
4. (), (d), (a), (b)

Options:

64535098811, 1
64535038812, 2
645350338813 2
48350398814, 4

Question Number : 69 Question Id : 64635025176 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

G ST3H1 & IT0! RIS & DIAHHER H TR Y ;
(@) ST 391 gRed STEe
(b) STERTE gHAT BR HHALH S FeX
(©) TATECS A PN, Asfefts YUS Heard ST
(d) FECS B Siith ¢qW oicd THIRMAT
1 Ry Ty Aol § 3 98 IR

L. (), (), (), (@

2. (b),(c), (@) (D

3. (), (), (b), (d)

4. (), (@), (a), (b)

Options:



E4E35098811.
EAE535098812.
E4535098813.
6453503985814,

[ N N

Question Number : 70 Question Id : 64635025177 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which statements are correct with regard to long-haul and short-haul travel as they are
defined as the needs and purpose of different organisations, sectors or destinations
(Bowen-2001)?

(a) The Umted Nations regards long-haul travel as trips outside the multi-country
UNWTO region in which the traveller lives.

(b) The UNWTO defines long-haul travel as multiple trips undertaken by a traveller
1n a particular region.

(¢) A resident of a country travelling within the same region where he lives 1s called
as short-haul travel.

(d) The WTTC defines long-haul travel as a type of journey that takes place between
the bordering countries of two regions.

Find the correct combination of answers :

1. (b)and(a)
2. (¢)and (d)
3. (a)and(c)
4. (b)and (o)

Options:

64535098815, 1
64535098816, 2
64535038817, 2
64535033818, 4

Question Number : 70 Question Id : 64635025177 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘AT B Sae” SR T gfer Saer & Gay § H-91 HU= I8l ¢ fore Rftm Smae, Jsed ar
Tiqea=dl B Smawdaareii iR el & U § gRyiitd f&ar man & @13+ 2001)?

(a) TAECS Y “TH-Bid ¢aa’ S Ig-UP g, T. S, <1, 31, & & TR 31 A1 °=dl

g ol gt e o 2

(b) T .S, 2. 3l 3 wiv-gid Saw & il Ay & & g gr1 fu o ues § aifde
aEnal & wu § ufeyiiia far B

(c) [ Sy &1 FHami of 39 &5 & Hiax, ST a8 T8l 8, Iel 3 351 8, dl 39 “Yie-ga
<qa” Sl ol ¢

(d) 7 TF. =Y, <. 3N ‘T-gid Sau F 39 = B TU § giia a8, S S &
& el <=t A 3 o 2

RENEIRHERISEECE
1. (b)3MR(a)
2. (o) 3R ()
3. (a) 3R (c)
4.  (b) 3R (c)

Options:

64535098815, 1
E4E35098816. 2
E4E350398817. 3
E4535098818. 4

Question Number : 71 Question Id : 64635025178 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Lakshweep 1s one of the famous tourist attractions. The 1sland has unique features of
tourism geography. Which of the following features are correct?

(a) Eachisland is fringed by snow-white coral sands.
(b) Foreign nationals only with “tourist visa’ are permitted.

(¢) Temperature is moderate, ranging from 22°C to 33°C in summer and 20°C to
32°C in winter.

(d) Ujra Mosque’ there, 1s known for its decoration.
Select the correct answer from the options given below :
(a), (b) and (c) only

(a), (b), (¢), (d)
(b) and (d) only

2 e

»

4. (b), (¢)and (d) only
Options:
64535033819,
64535093820,
EAER3E098E21.
E4535093822,

o I P

Question Number : 71 Question Id : 64635025178 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TR U Wi WieT ®id €1 39 &Y § udes Wi @i sifgdra Ay ¢ Fefiiad | @
HH HH-I fRwar o 82

(a) VIS EU P [FTR H T 3t e Ghg §l S TG D Feord 3
b) giee dor v ara AR TR el &t 8 agT o= @t ergafa 8|
(c) dITHI HOH a1 & o MHal # 22 °C § 33 °C d& SR wical # 20 °C | 32 °C %

EATE
(d) 8 B a9 Aiesg o= Foae & fou o ot 2
R Re R d Y T Twm T

1. ad (a), (b) IR (c)

2. (a), (), (o), (@

3. &4 (b) 3R (d)

4. &Fd (b), (c) IR (d)

Options:

645350985819, 1
E4E35098820. 2
E4E350398821. 3
EAE35098822. 4

Question Number : 72 Question Id : 64635025179 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Tourist destinations tend to experience five distinct stages of growth called Tourism
Area Life Cycle (TALC). Arrange the stages in a logical sequence :

(a) Involvement
(b) Consolidation
(¢} Exploration
(d) Stagnation

(e} Development

Select the correct option :

1. (a), (b), (), (). (&)
2. (), () (D), (&), (a)
3. (c), (d), (), (), (b)
4. (¢), (@), (), (b), (d)

Options:

64535098823, 1
4535098824, 2
645350985825, 5
4535098826, 4

Question Number : 72 Question Id : 64635025179 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



des Tiaered & Ao & uld fim @vor fears ed € o vde & oifla= 9w (& U ua. o)
Sl SIdl 21 37 TR0 difehep pH H HafRud & -

(@) SfaHifadan

(b) THST

(c) W

(d) TR

(e) o™
1. (a), (b), (c), (d), (e)
2. (b),(c),(d), (&), (a)
3. (¢),(d),(a), (), (b)
4. (c), (a), (e), (b), (d)

Options:

425098523, 1

CAEZE098524. 2

C4EZE09RE2E5. 2

C4EZE09R82E6. 4

Question Number

: 73 Question Id : 64635025180 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

With 1ts impressive technology, economic and political achievements, the Ancient
Rome reached its peak during which period to achieve unprecedented levels of tourism

activity?
[
2.
3.
4.

Options:

E4535098827.
EAEZS09882E.
E4E35098829.
E4535098830.

400 BCE-AD 400

100 BCE-AD 100

300 BCE-AD 1200

200 BCE-AD 200

1
2
=
4



Question Number : 73 Question Id : 64635025180 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

- yHERTE TRNfel, onfife ol ToHifde Sudisal & 9y uEeE W A udes
HHEa H Sydud TR &1 IJuwisd ST i frg iy 3 SR 30 TR W Ugd T UT?

ot

400 3. 9.-400 5.
2. 100%.9-100%.
3. 300% 9-1200%.

4. 2008 9-2008.
Options:
64635098827, 1
64635098828, 2
64635098329, 3
64635098830. 4

Question Number : 74 Question Id : 64635025181 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following modern countries belongs to Mesopotamia civilization?

1. Libya
2. Iran
3. Egypt
4. lIraq

Options:

64535098831, 1
E4E3S038832. 2
64535098823, 5
64535098824, 4

Question Number : 74 Question Id : 64635025181 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fFrofafaa snyfe 2 A 9 @F-91 S AN B 9w @ SEfig 22

1. s
2. WM
3.
4. @

Options:
645350958531, 1

E4EZ50398832. 2
E4E350398833. 3
E4535098824. 4

Question Number : 75 Question Id : 64635025182 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match the items in List—I with the items in List-II with regard to the evolution of
concept of sustainable development :

List—I List—II
(Name of Publication) (Year of Publication)
(a) A Sand County Almanac (Aldo (1) 1962
Leopold)
(b) Silent Spring (Racel Carson) (11) 1973
(¢) Limuts to Growth (Club of Rome) (111) 1949
(dy Small 1s Beautiful (iv) 1972

Select the correct option :

. (@), (b)-1); (@), (d){i)
2. (a1 (b)-Gv); (e)-i1); (1)
3. (a)y-(ui); (b)-1): (e)-v); (d)ii)
4. (a)-(w); (b)-(m); (c)-(11); (d)—1)

Options:

64635098835. 1

64635098336. 2

64535038837, 3
645350958838, 4

Question Number : 75 Question Id : 64635025182 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Tad e $1 SeHem & ygHia @ e, gHt-1 # &t 7 #ef &1 g=t-11 % Al 3 gafea

-1 G-I

(VBT &1 ATH) (YT BT q6)
(a) THS PR AP (TSI reiuiesy () 1962
(b) WEdc (&M (9d FE) i) 1973
(c) forftc g Oy (@9 9% I (iii) 1949
(d) wHid3agpd (iv) 1972

Tel fleeu g -
Lo (@) (b)~); (c)-(wv); (d)—(1m)
2. (a)-(); (b)-v); (¢)-(u), (d)-(1)
3. (@-(m); (b)-); (¢)-v); (d)1)
4. (a)-v); (b)-m); (c)-@); (1)

Options:

64535098835, 1
E4E350398836. 2
645350985837, 5
64535098828, 4

Question Number : 76 Question Id : 64635025183 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s NOT a *Visitor Management model™?
1.  The Recreation Opportunity Spectrum
2. The Limits of Acceptable Change
3.  Tounsm Optimization Management

4. Service Dominant Logic

Options:

64535098839,
E4E35093240.
4535098241,
4535098842,

o IR

Question Number : 76 Question Id : 64635025183 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



1. FAfAAG SEwR yiafss
2. Wier uikads @i 9
3. UdcT SPAH VEY

4.  HAITYT TP

Options:

64535098839, 1
64535038840, 2
64535033841, =
4535092842, 4

Question Number : 77 Question Id : 64635025184 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Find the correct sequence of stages of the uridex as proposed by Doxey (1976) as an
index of resident irritation.

1.  Euphoria, Apathy, Annoyance, Antagonism, Resignation
2. Euphona, Annovance, Antagonism, Apathy, Resignation
3.  Euphona, Apathy, Annoyance, Resignation, Antagonism
4. Euphora, Resignation, Apathy, Annoyance, Antagonism

Options:

64635098843, 1

64635093344, 2

E4E25038845. 5
E4EZ503854E. 4

Question Number : 77 Question Id : 64635025184 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Yforee 3R & Gaoie TR Sidd! (1976) G viaUTied sised & a=ull &1 981 $HH IdTU :
1. SINIFATG, SR, geieee, idgiwdl, sregHuo
2. IeIRIATE, Feree, idg i, ISR, SeHSHY
3. SWNIHR, SeNIHd], FHEree, STETHu, Hiigid
4. TN, STETHHU, IS, FHARe, Vagedn

Options:

64535098843, 1
64535035844, 2
48350398845 2
4535092846, 4

Question Number : 78 Question Id : 64635025185 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Read the following statements :

Assertion (A) : To convert a potential site, place or event into an attraction is the
essence of the tourism industry’s umique ability to create tourism
resources to which visitors must travel.

Reason (R) : Tounism industry exhibits a core-periphery relationship that attracts
tourists from a developed core to a periphery in search of unique
attractions and novel experiences not available in the core.

Choose the answer from the options given below :
1.  (A)is true but (R) s false
2. (A)is false but (R) 1s true
3. Both(A) and (R) are true but (R) 1s not the correct explanation of (A)

4. Both (A) and (R) are true and (R) is the correct explanation of (A)

Options:

64535098847,
64535093348,
4835093349,
4535093850,

o P

Question Number : 78 Question Id : 64635025185 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fofefad sy=i « ot

HFYF (A) ;[ GUIfad =, I I1 3ER S ATHEU H gRafdd S Gded Igr
B CHd &l BT IR B S 0 vdes Sl &1 9o St @ ol ant
3Gy I & e o B

BPRO(R) T IO U1 His-URiY Iey Teiid o3 € off Wea! & et faesfg
B1s ¥ fedlia mavur ok 7Y orga @ @ | el oRfY @ i
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1. (A) TSR Tg(R) Tad g
2. (A)TEdE g (R) 9T 8
3. (A) IR (R) T 98 € WG (R), (A) BT T€ w72 8
4. (A) R (R) TFI T& & iR (R), (A) &1 T8 Wi §

Options:

4835093347,
4535098248,
4535093549,
54535098850,

o LIRS

Question Number : 79 Question Id : 64635025186 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The United Nations Environmental Programme (UNEP) has developed “‘Green Code of
Ethics’ as sustainability initiatives. Find the correct title of this code of ethics.

T Code of Ethics and Gudelines for Sustainable Tourism
2. Code of Sustainable Practice
3. Environmental Codes of Conduct for Tourism

4. Sustainable Tourism Principles

Options:

64535098851, 1
64535038852, 2
64535033853, 2
E4E350392854. 4

Question Number : 79 Question Id : 64635025186 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tgad Y aiay SIdwH (g, UF. 5. Ul) 7 JuRviiadr vgel & &9 H 09 SIS it 3w
?fm%m%l 39 IR Tz 1 9 e B

1. @IS 3 3ieT UUs MEsasd BIR Te-ad giRad
2. IS 3iip EXeHad Higed

3. ZORERATd B 3 Feec BR ghed

4. weASd g D

Options:

64535098851, 1
64535038852, 2
648350398852 2
4535098854, 4

Question Number : 80 Question Id : 64635025187 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

To launch first cruiseship the credit goes to the King Charles IV of Sweden. In which
year did he start his personal cruseship?

1. 1821
2. 183l
3. 1824
4. 1854

Options:

64535098855, 1
64535038856, 2
64535038857, 2
4835098858 4

Question Number : 80 Question Id : 64635025187 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T TS TG BT STAGRY HIH BT 37 WieT & (o7 91 |V B S 81 I 0
HAHTT Bl STeurd [ 98 | T fpar?

. 1821
2. 1831

3. 1824

4, 1854
Options:
E4E825038855. 1
EABZ5038856. 2
E4535038857. 3
E4535038858. 4

Question Number : 81 Question Id : 64635025188 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Read the following statements :

Assertion (A) : Technology is increasingly used to search out and persue travel
options as well as making booking.

Reason (R) : The advice and knowledge of travel agents, seen as a key
determinant of holiday decision making, has now been replaced by
technological power of internet.

Choose the answer from the options given below :
1.  Both (A)and (R) are true but (R) 1s not the correct explanation of (A)
2. Both (A) and (R) are true and (R) 1s the correct explanation of (A)
3. (A)istrue but (R) is false

4. (A)is false but (R is true

Options:

E4E35095559. 1
64535028860, 2
64535038861, =
64535038862, 4

Question Number : 81 Question Id : 64635025188 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
E4E35095559. 1

E4E35098860. 2
E4E350398861. 3
EAE35098862. 4

Question Number : 82 Question Id : 64635025189 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Identify the no-fiill airlines (low-cost airlines) from those given below :
1. United Airlines
2. Qantas Airlines
3.  Ryanair
4.  Emrates

Options:

64535098863, 1
64535038864, 2
64535033865, 2
E4E35038866. 4

Question Number : 82 Question Id : 64635025189 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



At €1 T2 TERErsH A 9 - The TIRaR (1 drTd dell WRdlE) $1 UgHH S ;
. gEes WiaRd
2. Wiy WEEsy
3. RaFeR
4. uftRey

Options:

4535093863,
4535098864,
64535098865,
64535038866,

L N

Question Number : 83 Question Id : 64635025190 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match List—I with List—II :

List—I List—II
(Intangible Cultural (State/Region
Heritage/Dance) Associated)
(a) Ojapal (1) Andhra Pradesh
(b) Sankirtana (i1) Kerala
(¢) Kutiyattam (111) Manipur
(d) Kuchipudi (1v)  Assam

Choose the correct option from those given below :
1. (a)-(); (b)), (c)1v); (d)~1)
2. (a-(u); (b)—w); ()-av); (d)—1)
3. (a)-Qv); (b)d); (e)-(in); (1)
4. (a)-Q); (b)-(m); (e)—u); (d)-av)

Options:

64535098867, 1
64535038868, 2
4835098869 2
E4E35098870. 4

Question Number : 83 Question Id : 64635025190 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Teil-1 &1 gEl-11 § gafera s
-1 et

(3R AT (SR Ts/8)
tRITY/ )
(a) firarer i)  efyuew
(b) Halde (i)

(c) Ppicargq (i) AR
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1. (a-Qu); (b)-Gii); (e)—-(v); (DD
2. (a)y-(u); (b)-1); ()-Gv); (d)—~1)
3. (a)-v); 0)-(); (o)—); (D)D)
4. (a)-@); (b)y—u); (e)~(n); (d)-(v)

Options:
E4AE2E095867. 1

E4EZ509886E. 2
E4E35098869. 3
BAE35038870. 4

Question Number : 84 Question Id : 64635025191 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following luxury trains mns in South Africa?
1.  Palace on Wheels
2. Blue Train
3.  Royal Scotsman

4. Northern Belle

Options:

64535098871, 1
64535038872, 2
4835098872 2
4535098874, 4

Question Number : 84 Question Id : 64635025191 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535098871,
64535098872,
4835093873,
4535098274,

[ N

Question Number : 85 Question Id : 64635025192 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List-I wath List-II :

List-I List—II
(Aarport) (Aarport Code)
(a) Bhubaneswar (1) IXB
(b) Port Blair (11) [XS
(¢c) Bagdogra (111) BEBI
(d) Silchar (1) [XZ,

Choose the correct option from those given below :
1. (a)-(i1); (b)H1); (e){iv); (d)1i1)
2. (a)D); (b)-1); (o)u); (d)-1v)
3. (@), (b-av); (-0 (d)-1)
4. (a)-Q); (b)-(v); (c)-(u); (d)—11)

Options:

4535098875, 1
64535098876, 2
64535038877, 2
64535038875, 4

Question Number : 85 Question Id : 64635025192 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Teit-1 @f gEl-11 § gaferd st

(a) YaaR (i) IXB

(b) UK =R (i) XS

(¢) SATSITRT (ii1) BBI

(d) Rya=R (iv) IXZ
fGu o Goei § 9 I8 ST &1 99 S

L. (a-Qu); (b)-Q); (e)iv); ()11
2. (a-; (b)-1); ()m); (D)—1v)
3. (a)-w); (b)-av); (c)—1); (D))
4. (@)-@); (b)), (c)-(m); (d)—(11)

Options:
E4EZE098575.

EAEZS098E7E6.
EAE3S098877.
BA535098878.

[ N

Question Number : 86 Question Id : 64635025193 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Passengers aboard cruiseships are often called water tourists. The largest type of
cruiseships with a capacity of 800-3000 passengers are called * * class.

1. mainstream
2. mega
3. world

4,  comfort

Options:

4835098879, 1
45350988580, 2
64535098881, o
64535038882, 4

Question Number : 86 Question Id : 64635025193 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

4835098879, 1
E4E35098820. 2
64535028881, o
4535098882, 4

Question Number : 87 Question Id : 64635025194 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which amongst the following have been listed in the list of World Hentage Sites in
India (Cultural) in 2016?

(a) Capitol Complex, Chandigarh

(b) Ram-ki-Vav, Patan (Gujarat)

(¢c) Nalanda Mahavihara

(d) Hill Forts of Rajasthan

Select the correct answer from the options given below :
1. Both(a)and (b)
2. Both (a) and (c)
3.  Both (a) and (d)

4. Both (b) and (c)

Options:

435098553,
4535093884,
4535098885,
645350938886,

[ N

Question Number : 87 Question Id : 64635025194 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Fafted § | f59-59 @ 4Ra H 3ie (R ®a (Spiae) (2016) S gt J @1 T 82
(a) Siucy B, ISTTG
(b) IFI-P-TE, U (ERIA)

(¢c) rdal HelideR
(d) TSR o TEIel bt (R wicH)
4 Ry Ty et § | 98 SR -
1. (a) 3R (b) g
2. (a) 3R (c) T
3, (a) 3R (d) A
4. (b) 3R (c) T
Options:

B4535098883. 1
6453503958884, 2
645350958885, 3
EAEZS098856. 4

Question Number : 88 Question Id : 64635025195 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
Train 18 rechristened as express from Delhi to Varanasi becomes India’s fastes
train, hitting a speed of over 180 kmph during trial run.
Choose the correct answer to fill in the blank :

| Vande Bharat

t~

Jai1 Bharat
3. Bharat Mata

4.  New Bharat

Options:

64535098887,
64535093888,
4835093289,
4535093590,

o P

Question Number : 88 Question Id : 64635025195 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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1. ¥ HRd
2. SOHRA
3. HRAHAMEI
4. GYRA
Options:

EAE35098887. 1
E4535098888. 2
E4E5350398889. 3
6453503958830, 4

Question Number : 89 Question Id : 64635025196 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

To offer air travel options to passengers on a low budget, Air-India introduced Air
India Express in April

1. 2004
2. 2005
3. 20006
4. 2007

Options:

64535098891, 1
64535033892, 2
E4E350398892. 2
4535092894, 4

Question Number : 89 Question Id : 64635025196 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. 2004
2. 2005
3. 2006
4. 2007

Options:

48350985891, 1
E4E35098892. 2
64535098892, o
64535098894, 4

Question Number : 90 Question Id : 64635025197 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Automobile Associations are present 1n almost all countries. One of the Apex
Automobile organisations in India 1s

1.  Automobile Association of India (AAT)
2. Indian Automobile Association (IAA)
3.  Federation of Indian Automobile Associations (FIAA)
4. Federation of Automobile Associations of India (FAAT)
Options:
64635098895, 1
64635098896, 2

64535038837, 3
E4E350398859E8. 4

Question Number : 90 Question Id : 64635025197 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:



E4E35098895. 1
E4E5350398836. 2
645350398837, 3
6453503958838, 4

Question Number : 91 Question Id : 64635025198 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The order of service of Full Afternoon Tea Service is

1.  Beverages—Buttered scones—Sandwiches—Toasted items
2.  Beverages—T oasted items—Sandwiches—DButtered scones
3. Beverages—Sandwiches—T oasted items—DButtered scones

4.  Beverages—Sandwiches—Buttered scones—Toasted items

Options:

64535098599, 1
E4E35093300. 2
4535092301, 2
4535095902, 4

Question Number : 91 Question Id : 64635025198 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ORI B g =91 Y91 ° W1 B HH §
1. tgug—acs WH—dsiaa—Rie guuer
2. UG ue—R §Y teri—dsiia—acs ©F
3. g ugd—dsiT—Rie gu ve—acs ©iF
4. U —dsfm—ace w—Re gr e

Options:

64535098599, 1
64535035300, 2
648350935901, 2
4535093302, 4

Question Number : 92 Question Id : 64635025199 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List-II :

(@
(b)
(©)
(d)
Choose the

I

2.

Options:

E45350983903.
545350953904,
6453503953905,
64535093306,

Question Number

List-I List-II
(Dish) (Region/Cuisine)
Gil-e Firdaus (1) Hyderabad
Nehari (1) Awadh
Radha Balhotri (1)  Bengal
Bebinca (1v) Goa

correct option from those given below :
(a)—(1); (b)—1); (c)—(u1); (d)-(v)
(a)—1); (b)1); ()1, (d)—1iD)
(a)—-(1); (b)—(11); (c)(ui); (d)—(1v)
(a)-(1); (B)—u); ()-(wv); (d)—(1i1)

[ N

1 92 Question Id : 64635025199 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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(a) Mea-ufeRe i FER
(b) e (i) e[y
(c) T S (i) @
@ T Gv) T
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1 (i), (0D (e)-(iii); (D—(iv)
2. (&) (01 (o)), (D)
3. (a)D; (b)H); (e)Hiid); (d)iv)
4. (a)-(1); (b){1); (©)—1v); (d)(id)

Options:

64835098903, 1
4535093304, 2
E4535095905. 5
4535098906, 4

Question Number : 93 Question Id : 64635025200 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The beginings of hospitality sector in India stand rooted in Hindu Philosophy of “Atithi
Devo Bhava’. The world traces the evolution and growth of the hotel industry in
Ancient era, Grand Tour and Modern era. Whereas, in Indian context it can be broadly
categorized into

(a) Before Indus Valley Civilization
(b) Ancient and Medieval Era—from Indus Valley Civilization to 1600 AD
(¢} Colomal Era—from AD 1601 to Ad 1947
(d) Modern Era—from 1947 onwards
Choose the correct answer from the options given below :
1. (a), (b)and(c) only
2. (a),(®),(c)and (d)
3. (b),(c)and(d) only
4. (c)and (d) only

Options:

4835093907, 1
4535092308, 2
64535095909, 5
64535098910 4

Question Number : 93 Question Id : 64635025200 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) Riyadtawardgd
(b) WA 3R AeemTa-Riy 91 T | 1600 S TF
(c) 3uf~af¥e HE—16013. | 1947 3. dF

(d) SNy FTa—1947 I M

= Ry e d I T I/
1. @gd(a), (b) AR (c)
2. (a), (b), (o) AR (d)

3. Fad (b), (¢) AR (d)
4. HId (¢) AR (d)

Options:

64535098907, 1
64535035308, 2
E4E35093909. 2
4535092310 4

Question Number : 94 Question Id : 64635025201 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A room which has a Murphy Bed or Similar (a pull-out or convertible or foldaway) bed
1s called as

1. Queenroom
2. Extraroom
3.  Sicoroom
4. Jumor suite

Options:

45350954911, 1
64535098912, 2
64535098912,
64535035314, 4

Question Number : 94 Question Id : 64635025201 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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1. ®HETH
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Options:

64635098911, 1
4535098312, 2
64535098912 5
64535098914, 4

Question Number : 95 Question Id : 64635025202 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The primitive lodging houses or inns omnginated essentially to cater the needs of
travellers. All over the world, they were known by different names, such as
‘Dharamshala and Sarai’ in India, in Japan and Paradors in Spain.

Fill in the blank from the following :
1.  Ryokans
2. Pousadas
3.  Phatnal

4. Coffee houses
Options:
£4635098915. 1
64635098916, 2
£4635098917. 3
646350958918, 4

Question Number : 95 Question Id : 64635025202 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. iR

2. UNIEN

3. WeAd

4.  BIwEREEd
Options:

645350958915, 1
E4E35098916. 2
E4E350398917. 3
E453509589158. 4

Sub-Section Number: 2
Sub-Section Id: 6463501241
Question Shuffling Allowed : Yes

Question Id : 64635025203 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
Juestion Label - Comprehension



‘Agar Bar ruh-e-zameen ast, Hameen asto Hameen asto Hameen ast ..." are believed to be
the words spoken by a poet in the courts of a Mugal ruler in 17" century. The State of Jammu
and Kashmir is located in Northern India. One of the old publications on Kashmir called
Nilmat Puraan mentions that this land was once a huge lake known as “Satisar’, a lake named
after the Goddess Sati, the wife of Lord Shiva. Kashmir has always been a centre of attraction
for tounists. The valley of Kashmir 1s famous for its vegetables and fruts. Pears, chernes,
peaches, apricots, almonds, walnuts and apples are available in abundance. Plums that are
found in abundance locally are known as ‘alubukhara’, water chestnuts as “Golu” and a
special variety of pomegranates known as “Kabuli Anar’. In moring people enjoy a special
beverage called as “Kehwa’. In addition to thus Kashmur has a rich cuisine.

Kashmin cuisine 1s broadly divided into two parts. The Kashmin Pandit cooking and the
Muslim cooking, which is popularly known as “Wazwan’. The consumption of mutton has a
very high regard in “Wazwan’. There can be eight to thirtysix dishes prepared from mutton.
Specific parts are used for specific preparations, e.g., the neck for roganjosh, ribs for tabak
maaz and Kabargah, the legs are used for dhamwal and rishta. In Kashmur it 1s said that the
food should not only taste good, but also look good. Its aroma must be appetizing. The

success of a meal lies in its appeal to the eves, nose and then tongue.

Kashmiri Pandit recipies include ‘Rajma Gogji’, Haaq, Nadur Yakhni, Mach Kalia etc.’
Kashmin cusine 1s indeed a gold mine to explore. There 1s a special kind of Shallot, known a
praan, found only in Kashmir. In the famous Muslim banquet “Wazwan’ the meal is served

on a bronze thah and four persons can share the food from the same plate.

The delicacies include Marchwangan korma, Alubukhara korma, Rishta and other dishes
menfioned earlier. Finally the meal ends with Gushtaba. Kashmiris includes haaq, sauchal,
Kashmiri palak, Wasta haaq and many more. The celebrations of Kashmir, new year, known
as ‘Navreh’ includes food such as Rice, Walnuts, Honey and Curd, symbolizing prosperity
and abundance. Truly, Kashmir is a paradise on earth and a perfect destination for tourists.

Sub questions



Question Number : 96 Question Id : 64635025204 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which language “dgar Firdaus bar ruh-e zameen ast, Hameen ast-o Hameen ast-o
Hameen ast ...” 1s composed?

1. Urdn
2.  Arabic
3. Persian

4. Kashmiri

Options:
45250959159, 1

E4E35098920. 2
E4E35098921. 3
BAE35098922. 4

Question Number : 97 Question Id : 64635025205 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Besides, Satisar which other important lakes are in Kashmur?

(a) Manasbal
(by Wular
(¢) Badkhal

(dy Hokersar

Select the correct answer from the options given below :

1. (a), (b)and (d)
2. (a), (b)and(c)
3. (b),(c)and(d)
4 (a) and (¢) only

Options:

4535098923, 1
645350359324, 2
64535038325, 2
64535033326, 4



Question Number : 98 Question Id : 64635025206 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

This 1s a strange cross between a Shallot and a spring onion, used in Kashmin Cusine.
In local dialect it 1s known as

1. Praan

2. Zafran

3. Nadroo

4.  Haq
Options:

E4E35098927. 1
B4E35098928. 2
645350958929, 3
6453503958920, 4

Question Number : 99 Question Id : 64635025207 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

There are large brass plates used for serving food, usually shared between four people
1n the event of feasts, known as

1. Dan

2. Taram
)

4 Tasht

Options:

64535098931, 1
64535038332, 2
64535038333 2
E4E350395924. 4

Question Number : 100 Question Id : 64635025208 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



This dish is made from lamb culled out from shoulder simmered in a gravy made from
mustard oil, yoghurt, red coloured water from cock’s comb flowers, brown onion paste
and spices. Kashmiri masala known as ‘ver’ is also added to the dish for flavouring.
The dish is :

1.  Rogan josh

2 Rwangan tsaman
3.  Gushtaba

4 Rushta

Options:

E4E350954935. 1
64535028936, 2
64535098937, o
64535035338, 4

Question Id : 64635025203 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (96 to 100)
Juestion Label - Comprehension
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Sub questions

Question Number : 96 Question Id : 64635025204 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



IR g IR wg-U-oHT 3R, gHT aredt gHt aredl g9 arsd . foogy W | ferar mman 22
1. Sy

2. 3
3. Rl
4. HIHN

Options:

45350958919, 1
64535098920 2
64535038921, =
64535035322, 4

Question Number : 97 Question Id : 64635025205 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

SR | TR & ifaRed si-3t o0 Aewgyl 3 22

(a) HMAHEA
(b) T
(c) dTsPd
(d) TR
2 e s 3 4 S8 TR I -
L. (a), () 3R
2. (a), (b) 3R (0)
3. (b),(0) 3R (d)
4.  Had (a) 3R (C)
Options:

645350398923, 1
E4E35098924. 2
EAE350398925. 3
EAE35098926. 4

Question Number : 98 Question Id : 64635025206 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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4.  EI®
Options:

B4E35098927. 1
645350958928, 2
6453503958929, 3
E4E35098920. 4

Question Number : 99 Question Id : 64635025207 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L.

FEE

Options:

64535098931, 1
645350389332, 2
4835095922 2
453509359324 4

Question Number : 100 Question Id : 64635025208 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6453503958935, 1



E4E350398936. 2
E4E535098937. 3
E45350958928. 4

Sub-Section Number: 3
Sub-Section Id: 6463501242
Question Shuffling Allowed : Yes

Question Number : 101 Question 1d : 64635025209 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

One comprehensive framework and measure of travel and tourism competitiveness on a
global scale 1s the Travel and Tourism Competitives Index (TTCI) developed and
published each year by

1.  Orgamzation for Economic Cooperation and Development (OECD)

2. World Travel and Tourism Council (WTTC)
3.  Umnted Nations World Tourism Organization (UNWTO)

4. World Economic Forum (WEF)

Options:
E4E350954939. 1

E4E35098940. 2
E4E350958941. 3
BAE3509594%. 4

Question Number : 101 Question Id : 64635025209 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64535098939, 1
E4E35093940. 2

E4E350958941. 3



EAE35098942. 4

Question Number : 102 Question Id : 64635025210 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements, one labelled as Assertion (A) and the other
Reason (R) :

Assertion (A) : Supporters of Product Life Cycle (PLC) concept argue that firms
that apply the concept correctly are able to identify the stage in
which the organization or an individual product finds itself and then
uses this knowledge to formulate better marketing plans.

Reason (R) :  Once a product’s position in the product life cycle is determined,
firms are able to consider the charactenistics associated with the
respective stage and use the aforementioned strategies.

Choose the correct answer from the options given below :

[a—

(A)1s true but (R) 1s false

i

Both (A) and (R) are true and (R) is the correct explanation of (A)

=

(A)1s false but (R) 1s true

g

Both (A) and (R) are true but (R) is not the correct explanation of (A)

Options:

64535093943,
4835093944,
4535093945,
4535093946,

o IR
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Correct Marks: 2 Wrong Marks: 0
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E4E350955945.

E4E35098944.
E4E35098945.
BA535095946.
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Question Number : 103 Question Id : 64635025211 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In the context of channel design decisions, channel width and channel length are
concerned with and respectively.

1. desired market coverage, number of intermediaries
2. desired market share, channel conflict
3.  market segmentation, sales promotion

4. number of intermediaries, market segmentation

Options:

64535098947, 1
64535033348, 2
E4E35095949. =2
4535093350 4
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Options:
45350955947, 1

E4E35098948. 2
E45350958945. 3
E4535098950. 4

Question Number : 104 Question 1d : 64635025212 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In recent years, hospitality companies have been devoting increased percentage of their
budgets to sales promotions. Sales promotions seek to accomplish several broad
objectives. Which one of the following is NOT the objective of sales promotion?

1.  Tointroduce new products and services
2. Toincrease guest occupancy and customer counts
3.  To encourage present guests to purchase more

4. To stimulate demand in peak periods

Options:

64535098951, 1
E4E35093952. 2
E4535095952. 5
64535098954, 4

Question Number : 104 Question Id : 64635025212 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535098951, 1
64535038352, 2
64535033353 2
E4E350393954. 4

Question Number : 105 Question Id : 64635025213 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The customer participates in the delivery of most hospitality and travel products. There
are three phases to this involvement. These are joining, consumption and

1.  segmentation
2. detachment
3, attachment

4. diversification

Options:

64535098955, 1
E4E350938956. 2
4535098357, 2
64535098958, 4
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Correct Marks: 2 Wrong Marks: 0
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Options:

64535098955, 1
645350389356, 2
64535038357, 2
E4E35095958. 4

Question Number : 106 Question Id : 64635025214 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In behavioural segmentation, the buyers are divided into groups based on their ;
and to a product.

1. knowledge, perception, behaviour
2. knowledge, attitude, response
3. social class, perception, response

4. hifestyle, athitude, behaviour

Options:

64535098959, 1
64535038960, 2
64535038361, =
4835093962 4
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4350355959, 1

E4E35038960. 2
E4E350398961. 3
EAE35098962. 4
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refers to tourism that minimizes the environmental impacts and socio-cultural
changes, and results in the longevity of a destination, and creates economic opportunity
for local communities.

L Eco-tourism
Medical tourism

Sustainable tounsm

e e

Genealogical tourism

Options:

64535098963, 1
64535035364, 2
4835095965 2
4535095366, 4
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Options:
E4E35035963. 1

E4E35098964. 2
E4E350398965. 3
EAE3509896E6. 4

Question Number : 108 Question Id : 64635025216 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Hospitality firms need to engage in personal selling. In this regard, successful sales
people generally focus on four components of successful selling. Arrange the
components in logical sequence
(a) prospecting and quahifying
(b) planning and delivering sales presentations
(¢c) overcoming objections

(d) closing the sale

Select the correct option :

. (a) (), (b), (D
2. (b, @), (@
3. (a),(0),(0), @
4. (c), (b). (a), (D

Options:

64535093967, 1
E4E3S503896E8. 2
64535095969, 5
4535098970, 4
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L. (&), (c), (b), (d)
2. (b), (@) (c), (@
3. (a),(b).(c)(d)

4. (), (b). (a). (@)

Options:

4535098967, 1
4535098968, 2
64535035369, =
64535033370, 4
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Given below are two statements, one labelled as Assertion (A) and the other
Reason (R) :

Assertion (A) : A market penetration strategy focuses on selling the existing
product- service mix to the existing target markets.

Reason (R) . Most firms will attempt to increase the quality and consistency of
the product-service mix as a means of increasing customer
satisfaction, promoting brand lovalty and increasing sales and
market share.

Choose the correct answer from the options given below :

—
'

Both (A) and (R) are true but (R) is not the correct explanation of (A)
2.  Both (A)and (R) are true and (R) is the correct explanation of (A)
3. (A)istrue but (R) is false

4.  (A)is false but (R)1s true

Options:

64535098971, 1
E4E350393972. 2
645350958972, 5
64535098974, 4
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64535098971, 1
4835098972 2
45350989372 2
64535095974, 4
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Match List—I with List-II :

List-I List-II
(Pricing Strategy) (Description)
(a) Skim pricing (1) It involves setting low prices in

relation to the firm’s economic
value to most potential consumers

(b) Penetration pricing (11) It 1nvolves sefting prices at a
moderate level in relation to the
economic value to most potential
CONSUMETs

(¢} Neutral pricing (111) It uses a firm’s cost to provide a
product or service

(d) Cost-onented pricing (1v) It involves setting high prices in
relation to the product’s/service’s
economic¢ value to most potenfial
COnSuImers

Choose the correct option from those given below :
1. (a)-@); (b)-u); (¢)-u); (d-Qv)
2. (a)-@); (b)-v); (¢)-(1); (d)(1i1)
(a)—(1v); (b)-(D); (e)—(it); (d)—(iiL)
(a)-(u1); (b)~(11); (e)-Qv); (d)~1)

<20

Options:

64535098975, 1
64535033376, 2
E4E350398977. 2
64535095975, 4
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1. (a)-1); (b)), (¢)-(ii1); (d)-(1v)

2. (a-u); (b)—v); ()-1); (d)-(1)
3. (@-v); (b)-Q); (¢)-(1); (d)-(u1)
4. (@), (D)-); (O-w); (D-1)

Options:

64535098975, 1
645350389376, 2
4835098977, 2
45350989378 4

Question Number : 111 Question Id : 64635025219 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to the “Servuction System’ model

1.  customers receive a bundle of “benefits’ from each service experience as a
result of their interaction with visible elements of the service system

2. customers stay detached from the inamimate environment
3.  customers do not interact with the sub-systems of the service providers

4. customers are not a part of service delivery system

Options:

64535098979, 1
64535038380, 2
64835095981, 2
4535095322 4
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435095979, 1
64535098980, 2
64535098981, o
64535035382, 4
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Which of the following is NOT true about service encounters?
1. Service providers for their part are not generally altruistic
2. Prior acquaintance between participants is not required

3.  ‘Limited scope’ with the scope of the inter-change being ‘restricted by the
nature and content of the service’ to be delivered

4. Task related information exchange is not prevalent

Options:

E4535098983. 1
64535098984, 2
64535038985, =
6453503593586, 4
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Options:

64535098983, 1
E4E35093924. 2
645350959585, 5
4535098986, 4
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Key phases of Brand Building process of destination include following. Arrange the
phases in a logical sequence :

(a) Identity Development
(b) Image Investigation
(¢) Brand Design

(d) Brand Management
(e) Brand Communication

Select the correct option :

1. (), ®), (), {d), (=
2. (b)(a),(c), () (d)
3. (b)(c). (a), (). ()
4. (0, ), (e), (a), (0

Options:

64535098987, 1
64535038388, 2
64535035389, =
4835093990 4

Question Number : 113 Question Id : 64635025221 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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3. (b, (e) (), (D), (e)
4. (c),(d), (e). (@), (b)

Options:

E4E35098987. 1
E4E35098988. 2
6453503958959, 3
645350953930, 4
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Which of the following types of literature review is NOT correctly matched?

1. Contextreview . Review in which the author links a specific study to
a larger body of knowledge

2.  Integrated review : Review in which the current state of knowledge on
a topic is summarised highlighting agreement and
disagreement within it

3.  Theoretical review : Review in which author’s familianisation with a
subject area 1s demonstrated

4. Historical review : Specialised review in which the author traces an
issue over time.

Options:

4535098991, 1
64535038992, 2
645350359393 =
645350339394, 4
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Options:

64535098991, 1
64535038392, 2
4835095992 2
453509329394, 4

Question Number : 115 Question Id : 64635025223 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Kolmogorov—Smirnov test falls in the category of
1.  Parametric test
2. Symmetric test
3.  Mecdan test

4. Non-parametric test

Options:

E4E350955955. 1
64535028996, 2
64535098997, 5
64535035398, 4
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Options:
E4E350955955. 1

E4E3503989396. 2
E4E350398997. 3
E453509589358. 4
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Which one of the following key statistics 1s NOT associated with factor analysis?
1. Kaiser—Meyer—Olkin statistics
2. Eigenvalue
3. ANOVA
4. communality

Options:

4835098999, 1
E4E35099000. 2
64535029001, 5
4535029002, 4
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E4E35098995. 1
B4535033000. 2
64535033001, 3
E453503300Z. 4
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Correct Marks: 2 WrongMarks: 0

For a moderately asymmetrical frequency distribution, which of the following is
correct?

1. Mode=3(Mean)— 2 (Median)
2. Mode =3 (Median) - 2 (Mean)
3. Median=3 (Mode) - 2 (Mean)

4. Mean =23 (Median) — 2 (Mode)

Options:

64535099003, 1
64535039004, 2
64535033005, =
E4E350939006. 4
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Options:

4535092003, 1
64535029004, 2
64535033005, =
64535033006, 4
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Which of the following 1s NOT a non-sampling error?
1.  Response error
2. Errorin coverage
3. Compiling error

4. Error in judgement sampling

Options:

4535093007, 1
64535099008, 2
64535033009, =
64535039010, 4
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Options:

4535093007, 1
64535099008, 2
64535033009, =
64535033010, 4
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A Type I error 1s defined to be the probability of

ot

rejecting a true null hypothesis
2. accephng a false null hypothesis
3.  accepting a true null hypothesis

4. rejecting a false null hypothesis

Options:

&4635099011. 1
64535099012, 2
645350339013 =
64535039014, 4

Question Number : 119 Question 1d : 64635025227 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

648235099011, 1
4535099012, 2
64535029012,
64535029014, 4
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Hypothesis testing CANNOT be performed by
1.  the Z-value approach
2. the P-value approach

3.  the critical value approach
4.  the typical value approach

Options:

4535099015, 1
64535099016, 2
645350339017, =
64535039015, 4
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Options:

64535099015, 1
4835099016, 2
4535099017, 2
64535029018, 4
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Match List—I with List-II :

List-I List—II
(a) Spearman’s rank correlation (1) 7' -test
(b) Multiple correlation (1)  f-test
(¢) Test for equality of two proportions (1) Z-test

(d) Kendall’s coefficient of concordance (1v)  F-test

Choose the correct option from those given below :
L (a)-Q); (b)-); (o)(um); (d)-v)
()—(1i1); (b)—1v); ()(ii); (D)
(a)—(i1); (b)—{1i1); (e)-v); (D))
(a)—(iit); (b)-(iv); (e)-(1); (d)—(i1)

= Tl A

Options:

4535099019,
64535093020,
64535093021,
4835093022,

[ N N
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(a)—(1); (b)—(it); (e)—(iid); (d)—v)

2. (a)-a); (b)—av); (e)(); (d)—D)

3. (a)-a); (b)—i); (e)—~1v); (D)

4. (a)-@i); (b)-Gv); (e)-@1); (D)

i

Options:

64535099019, 1
64535033020, 2
4535099021, 2
64535099022, 4

Question Number : 122 Question Id : 64635025230 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List=II :

List-I List-I1

(a) Connectivity (1)  The report should be divided into
meaningful chapters and sections

(b) Indentation (1) The text should not have abrupt and
ragged beginmngs and ends

(¢) Openness () The research should enunciate the
support of earlier researchs for facts
obtained and analysis made

(d) Asserting (iv)  Limitations in data, methods and tools
used should be put down

Choose the correct option from those given below :
(a)-(11); (b)—1); (c)-(v); (d)ai1)
2. (aH); (W), (e)iid); (d)—1v)
3. (a)-(ui); (b)-a); ()v); (A1)
4. (a-); (b)—(m); (c)-v); (1)

[—

Options:

648350939023, 1
4535099024, 2
64535099025, 5
64535039026, 4

Question Number : 122 Question Id : 64635025230 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



TEt-1 1 gE1-11 | gRfea St
SEIS! 11

(a) gEEdl () RO srfunt sl SR @usi # v
ERIEIEY

(b) T (i) Ule P IRY IAR/AT IS 3R
TSI o Tl g TR

(c) A (i) =y H forw U a9k fu o g
& fou gdadt =iyl 9 wa SeEar @
I gHT A1 T

(d) SfYeuTHs (v) onee, ARET iR T gt sremarsii of
T 91ey

feu U faw el § ¥ 981 3T &1 39U S

1. (a)y-i); (b)1); (e)—v); (d)ii1)
2. (a)y-); (b)—); ()1i1); (d)-Gv)
3. (a)y-(m); (b)), (c)-Awv); (d)—1)
4. (a)y-(w); (b)-in); (e)v); (1)
(6)512(;‘:‘;&)99023. 1
645350339024, 2

B4535093025. 3
64535093026, 4

Question Number : 123 Question Id : 64635025231 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following is NOT related to Brownfield Airport Project?

1. Anexisting airport undergoes significant redevelopment and expansion

2. Undertaken when the owner or operator does not have the resources or
expertise to modernise and expand

3. Brings in an experienced partner to support both modermzation and
expansion

4. Begins with a feasibility study to evaluate the viability of the project to be
built from scratch



Options:

64535093027, 1
48350939028, 2
4535099029 2
64535039020, 4

Question Number : 123 Question Id : 64635025231 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frofefag A 2 o9-T1 grewics Aamoe uiarerT 3 969ig A8t 22
1. g9 fqumues o Aeaul gAide iR fawar far mn g

2. d9 Y foan T o/ ST a1 veEee & U SnyReie e iR fawar & fee
TgeF a1 R =gl gt €

3. MYFHIHU AR R Gl & 7Y Ue SrgHat aTsiaR & fomn mr

4. URGIH & SHEAT S0 | a1 39 e geie- a% &1 03 S garl
ST B
Options:

64535093027, 1
64535093028, 2
64535093029, 3
E4EZ5033030. 4

Question Number : 124 Question Id : 64635025232 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List-II :

List-I List—II
(a) Measuring objective facts (1)  Interactive process,
events
(b) Focus on variables (11)  Situationally constrained
(¢) Independent context (i)  Construct social reality,
cultural meamng
(d) Statistical (iv)  Thematic

Choose the correct option from those given below :
(a)—(D); (b)-v); (e)-(iid); (d)—(i1)
(a)-(1i1); (b)—(1); (e)—(1); (d)-1v)
(a)-(i1); (b)~(iv); (e)-(1it); (d)~1)
(a)—~(iv); (b)—(ii1); (¢)—(1); (d—1i)

il

Options:

64535099031,
64535093032,
64535093033,
48350932034,

[ N N

Question Number : 124 Question Id : 64635025232 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 31 g1 D FARE FRT -

-1 -1

(TITY Bt AT e (e Y TN Rfew)
(a) U gl HI ALY 1)  ruruigaes uigan, ge-m
(b) TR BT () oRffee s=rvafteg
(c) oo ey (i) e IRafdodl, ARBaS
3ref g1 fRwioT
(d) el (iv) fvggEd
feu e Ao § 9 98t IR &1 T I ;
1. (a)-(); (b)-(v); (c)-(ii); (d)—(ii)
2. (a)-(u); (b)-1); (c)~(1); (d)-Gv)
3. (a)-(1), (b)-(v); (c)-(ii1); ()~1)
4. (a)-(v); (b)-(ii); (c)-(1); (d)—i1)
Options:
C4E250949021 .1
CAEZEQ93022. 2
C4EZE0990=3, 2
E4EZE0990=4. 4

Question Number
Single Line Quest

: 125 Question Id : 64635025233 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
ion Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one
policy?

I
2.
3.
4.

Options:

of the following is NOT an assumption of I. E. Walter’s model on dividend

External Financing
Constant Internal Rate of Return
Constant EPS

Infimte Life

64535093035, 1
64535093036, 2
64535093037, 3



EAE35033903E8. 4

Question Number : 125 Question Id : 64635025233 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ATHIRT i & Iy § . 3. aTeex & Aisd § Fofafad # 9§ -5t te gduron A8l 87

1. T fawo
2. WY RR Al &
3. RRId
4. Soifed Sitaw

Options:

E4535099035. 1
64535099036, 2
64535033037, =
64535033035, 4

Question Number : 126 Question 1d : 64635025234 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following is NOT a characteristic of transactional leaders?
1.  Idealised Influence
2. Inspirational Motivation
3.  Intellectual Stmulation

4. Management by Exception

Options:

64535099039, 1
64535033040, 2
648350939041, =
64535099042, 4

Question Number : 126 Question Id : 64635025234 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fafated # 9 SF-9 Soaagrl =i @ [ T8l 87
1. S wHIG
2. URUMHS SMfHUIOr

3. difg®s I

4. IUdIg yEYT
Options:
64535093039, 1
64535029040, 2
64535099041, 5
645350339042, 4

Question Number : 127 Question Id : 64635025235 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match List—I with List—II :

List-] List-II
(Theories of motivation) (Theorists)
(a) Theory of Needs (1)  Frederick Herz
(b) Operant Conditioning Theory (11)  Victor H. Varoom
(¢} Expectancy Theory (a11)  B. F. Skinner
(d) Motivation-Hygiene Theory (iv)  David McClelland

Choose the correct option from those given below :
(a)—(1); (b)—(11); (¢)~(u1); (d)-(v)
2. (a)-(u); (b)), ()-v); (d—D)
3. (a)-(u); (b)-(v); (c)-0); (d)—(11)
4. (a)-v); (b)-(u); (e)-(); (1)

=

Options:

64535093043, 1
E4E35099044, 2
64535099045, 5
64535099046, 4



Question Number : 127 Question Id : 64635025235 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

-1 B FE-11 | gaferd i -

NS -1
(SR g (SEARESN

(a) oMawged & Rigid (i) Theii® To
(b) fpamyd sH@ar sia (i1) Ay a&=y
(¢) v Rigd (i) & .

(d) TR -T=adT Rgid (iv)y 2fe deds
feu MU faweut H§ @ I8} IR &1 99 i

1. (a)-1); (b)-11); (c)—(iii); (d)—{v)

2. (a)-(1); (b)(i1); (¢)-(v); (d)—(i)

3. (a)-(in); (b)-av); (c)-1); (d)—(i1)

4. (a)-(v); (b)-(ii); (c)-(i1); (d)—)
Options:
CAEZE099042
EAEZEDT33044,

E4E350393045,
E4E3509304E,

o LIRS

Question Number : 128 Question Id : 64635025236 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following statements are correct?
(a) Purchase journal 1s meant for recording all purchases of goods.
(b) Purchases day book is a part of the ledger.

(¢) The principle of conservatism does not permit creating reserve for discount on
creditors.

(d) Stock at the end, if it appears in trial balance, 1s taken only to the Balance Sheet.
1. Both(a)and (b) are correct
2. Both (b) and (¢) are correct
3.  Both(c¢)and (d) are correct

4.  Both (a) and (d) are correct

Options:

64535099047, 1
645350339048, 2
64535033049, =
E4E35099050. 4

Question Number : 128 Question 1d : 64635025236 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fofafed 8 3 o19-3 HyF 98 &7
(a) 4 H P T g agel @1 i fsar s 2
(b) T gFH! giRdeT 981 @rd &1 31 8|
(¢) TREW &I Rigid T-eRl IR 9 & forg emfea 1 #t ergwfa 78t Sar g
(d) 3id H =T, af oirg go--ua § fowrs a1 8, Paa onfife g o & srar s 21
1. (a) 3R (b)THITEE
2. (b) 3R (c) I TR 2
3. () R(@TIIRE
4. (a) 3R (d)THITE g

Options:



E4E350939047. 1
E45350930458. 2
64535093045, 3
645350393050, 4

Question Number : 129 Question 1d : 64635025237 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following statements are correct?
{a) The external environment has direct action elements only.

(b} Orgamsations are more dependent in an environment when the required resources
are widely available.

(¢) The environment is more uncertain and is less easy to understand when it is more
differentiated.

(d) Orgamsations are more dependent in an environment where the resources are not
evenly distributed.

1.  Both (a)and (b) are correct
2. Both (b) and (c) are correct
3.  Both (c) and (d) are correct

4.  Both (a)and (d) are correct

Options:

64535099051, 1
645350339052, 2
64535033053 2
E4E3503939054. 4

Question Number : 129 Question Id : 64635025237 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Ffead # 8 BH-9 HUT 951 87
(a) WG UAER0 § Had Tde B O g

(b) e UH vafaw ® e F+R g € o9 i Suns ®ve 9 H Suas g &
(¢) o9 vaiaRw e fAafea Sar g ot ag affe af3fia ok gHem Asfd= aar 21
(d) W7 U8 vafaRor H eiftre FRk 81 € o Semes gme U § faafa 7 g €

L

2

3

4.

Options:

E4E35093051.
BA535093052,
64535093053,
64535093054,

Question Number
Single Line Quest

(a) 3R (b) T 9T &
(b) R (c) GF1 Wel ¢
(¢) 3R (d) T T8
(@) 3R (d) T TR T

[ N

1 130 Question Id : 64635025238 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
ion Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If a share of Rs 10, on which Rs 6 has been paid, is forfeited, it can be reissued at the
mimmum price of

1.

2.

Options:

E4E35093055
E4E35093056
4535020057
4535039058

Question Number

Rs 6 per share
Rs 4 per share

Rs 10 per share
Rs 2 per share

.1
.2
.3
4

: 130 Question Id : 64635025238 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0



afg 10 3. &1 e VA, 59 W 6 3. g7 U o1 9o € s a1 orar €, 4 39 gaH 9
T TR G TR 35 o T 82

1. 6% UfdIw
2. 4% FATW
3. 103 UlIRR
4. 2% YRAIAR

Options:

64535099055, 1
645350339056, 2
648350939057, 2
4535099058, 4

Question Number : 131 Question Id : 64635025239 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Machine Hour Rate Method of charging depreciation 1s useful when
1.  output can be effectively measured
2. use of the asset can be measured in terms of time
3. uftility of the asset can be directly related to its productive use

4. depreciationis to be provided on leasehold property

Options:

645350939059, 1
4535099060, 2
64535099061, 5
645350339062, 4

Question Number : 131 Question Id : 64635025239 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



I8 UHR @1 = ger X yorel! Suanh @ o
1. QTG &1 THIE ¥0 3 J10F 8 9%
2. U UREURT & VAN &1 999 & ©U § 6109 ¢ 95
3. Uo URYHURT & IUAH B Tds T H IS IAGe VAR 4 Slie] off 9
4.  HIBN UI-yfa "oy o, fgar s

Options:

54535099059,
64535093060,
64535093061,
4835093062,

[ N

Question Number : 132 Question Id : 64635025240 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements—one labelled as Assertion (A) and other Reason (R) :
Assertion (A) : Capital Budgeting are irreversible in nature.

Reason (R) : TATA incurred heavy losses on reversal of NANO plant in West
Bengal.

Choose the correct answer from the options given below :
1. Both(A)and (R) are correct and (R) 1s the correct explanation of (A)
2.  Both (A)and (R) are correct but (R) 1s not the correct explanation of (A)
3. (A)is correct but (R) 1s incorrect

4. (A)isincorrect but (R) is correct

Options:
4235093063, 1

EAE350339064. 2
B4E35093065. 3
BAE35093066. 4

Question Number : 132 Question 1d : 64635025240 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



el G Jered & M0 E—Ua @ AfHBU (A) 3R g8 BT RO (R) FET T8 -
HYBHYT (A) : UoiTd Sorcia gl @t vela ememad-ia gt 2
SR (R) . TIeT @) UM §Td § 391 999 & ydhas ) {81 989 sl udh
i< féu U fawey 9 ARl IR T

1. (A) R (®R) TFI T8 € &R (R), (A) 3T JE WU 8

2. (A)3R(R) I TN E TG (R), (A) BT T WFiww ¢

3. (A FEWRYR) T

4. (A)TEEE U (R) T ©

Options:

48350939063, 1
4535099084, 2
4535099065, 5
4535099066, 4

Question Number : 133 Question Id : 64635025241 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Strategic planning process involves various steps. Arrange the following steps in the
order in which they are undertaken, using the code given below the steps :

(a) Defining the company mission

(b) Designing the business portfolio

(¢) Setting company objectives and goals

(d) Planming markefing and other functional strategies

Select the correct option :

L. (&), (b), (c). (d
2. (a),(0),(d,
3. (a),(0), (b), (@
4. (a), (d),(b), (¢

Options:
4535099067, 1



EAE3509906E. 2
B45350930645. 3
BAE35033070. 4

Question Number : 133 Question 1d : 64635025241 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

s droF ufar & fafts =0 €9 81 19 T 7 3e &1 v e Fafufad =y @i
I U 9 & HH H suaiud &

(a) U A DI OIS S

(b) TR UGEHIers &1 HfHHea

(0) Ul Il 3R el 1 Fufor

(d) AU SR e Frafes Hifedl St aeH §7
el e g

(a), (b), (¢), (d)

2. (@, 1.0, ©

3. (a),(0), (b))

4. (a), (d), (b), (0)

Options:

64535093067, 1
64535039068, 2
483503939089 2
4535099070, 4

jr—

Question Number : 134 Question Id : 64635025242 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

An organic organization is the one that is low in 1 and is

1.  specialization, formalization, centralized
2. complexity, formalization, departmentalized
3. complexity, formalization, decentralized

4.  specialization, complexity, boundaryless

Options:



E4E35099071. 1
BAE35033072. 2
B4E535033073. 3
64535033074, 4

Question Number : 134 Question Id : 64635025242 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

0% ard §13 98 8 forad , FHTART B
1 faddew shoeietew S<ied
2. Wfead et faurfiea
3. Sfead shuaeie, Ae=sied
4. fastewy, Sead, dmifgs

Options:

64535099071, 1
48350939072 2
4535099072 2
64535099074, 4

Question Number : 135 Question Id : 64635025243 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(Given below are two statements—one labelled as Assertion (A) and other Reason (R) :

Assertion (A) : Feedback control, the most popular type of control, takes place after
the activity is done.

Reason (R) . Feedback control is helpful in hospitality industry situations where a
number of activities repeat themselves; so resorts and hotels have
developed several controls that help measure and report on these
activities.

In the context of above statements, choose the correct answer using the codes given
below :

1.  (A)1sfrue but (R)1s false
2. (A)is false but (R) is frue
3. Both(A) and (R) are true

4. Both (A) and (R) are false

Options:



EAE35093075.
BAE3509307E6,
BAE35033077.
64535093078,

[ N N

Question Number : 135 Question 1d : 64635025243 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

4 <1 gaaey foU U 8—Ud B THHU (A) 3R T B SR (R) FET TR :

AHBYT (A) qﬁ%ﬁ%?’dﬂﬂ,ﬁ%ﬁﬁﬁmﬁﬁﬁ%mw%wﬁﬁ%
| |

BRU(R) : Bleds Faaw el gam ot oiffed # geme & oef oFe
feparmam Sied 9 & 9a: feied ok gical = @3 o9 g Aefia
iU & S 57 frarean & Faau 3 sifiee & 980s &

12 few U e # 9 g I g
(A) TR R (R) T ©
2. (A)TEAE TG (R)IH T
3. (A ARE) I
4. (A) 3R (R) G o &

Options:

645350939075, 1
64535039076, 2
E4E35093077. 2
4535099078, 4

—

Question Number : 136 Question Id : 64635025244 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s NOT an element of destination situation analysis?
1.  The micro environment
2. Destination resources
3.  Destination markets

4. Supporting industries

Options:
64535093079, 1



EAE35093080. 2
E4535093081. 3
EAE535093052. 4

Question Number : 136 Question 1d : 64635025244 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fofafed 8 | o991 Taer- wa oy faxawo &1 aos T8 27
1. 9&H Tgiae
2. TIqd-RIQ WA
3. Tded-Rd gOR

4. UEHS IEN

Options:

4535093079, 1
64535029080, 2
64535099081, o
64535039082, 4

Question Number : 137 Question Id : 64635025245 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List—I with List-II :

List-I List-II
(Book) (Author/Editor)
(a) Managing Visitor Attractions— (1) David Weaver & Martin
New Directions Oppermann
(b) Niche Tounsm—Contemporary (11)  Allan Fyall, Brian Garrod,
Issues, Trends and Cases Anna Leasle & Stephen
Wall
(c) Introduction to Management in (i11)  Marina Novelli
the Hospitality Industry
(d) Tourism Management (v) C.W. Barmrows, Tom Powers
& D. Reynolds

Choose the correct option from those given below :
L. (a)-(ud); (b)—(1); (e)-v); (D))
2. (a-(1); (B)ui); (©)-1); (D)-av)
3. (a-(1); (B)u); (¢)—v); (1)
4. (@-); (b)-1); (0)-v); (d)(1)

Options:

645350939083, 1
45350990384, 2
64535099085, o
64535039086, 4

Question Number : 137 Question Id : 64635025245 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



g1 &1 G-I T gAferd sifer
a1 Tei-11

(OKID) (O g/ IUTGE )
@ PR RE—T Q) Ifedw ok s shds
SR
(b) FaR—FeOrdsmgE, () UE W™ §oF RS, T
=9 U oY A IR T ard

(¢) 3¢S ¢ HoHe 3 fe (i)  wfe e
gIRCherct sew!
() Theadaem< (iv) W) S=g I, < Uy 8
gl Fisd
feu U fdewel § ¥ Set ST &1 99 HiioTl ;
1. (a)y-(ui); (b)-(1); (c)-(iv); (d)~1)
2. (1) (b)), (e)—(1): (d)-av)
3. (&), (b)), (e)-v);, (A1)
4. (a)-1); (b)-11); (c)(1v); (d)—(1i1)
Options:
C4EZE099052, 1
E4EZE099054. 2

E4535093085. 3
64535093056, 4

Question Number : 138 Question 1d : 64635025246 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List—II :

(a)
(b)
(©)
(d)

Choose the
L.

2
5
4

Options:

E4535093057.
EAEZS093055.
E4E350393059,
BA535093030,

Question Number

List-I List-II
(IATO (Venue of Convention)
convension)
29" (i) Delhi
30™ (i) Indore
31 (iii) Kochi
3gne (iv) Chennai

correct option from those given below :
(a)-(1); (b)—); (e)—(ii1); (d)-(1v)
()-(11); (b)—i1); ()-(D); (D-Gv)
(a)—(iii); (b)~(); (0)(i1); (d)-(1v)
(a)—(iv); (b)-(iii); (c)-(ii); (D)

[ N

: 138 Question Id : 64635025246 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O



TEt-1 1 -1 9 grferd St
-1 -1

(a) 29at i  few

(b) 30ai (i) 3<R

(c) 31di (iii) @I

(d) 308 (v) =
feu e famedt | | TEl I &1 99 BT ;

L. (@) ()b (e)iid); (d)-v)

2. (a)y-(u); (b)—1i); (e)-1); (d)-Qv)
()—(iii); (b)—(1); ()(id); (d)—(Gv)
4. (a)-(v); (b)-(u1); (c)-(); (d)~1)

e

Options:

64535099087, 1
64535033038, 2
4535099029 2
E4535099090. 4

Question Number : 139 Question Id : 64635025247 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I wath List—II :

(a)
(b)
(©)
(d)

List—I List—II
(Hill Station) (State)
Panchmarhi (1) Andhra Pradesh
Coorg (11) Madhya Pradesh
Munnar (111) Karnataka
Araku (iv)  Kerala

Choose the correct option from those given below :

L.
2
3.

4.

Options:

64535093031,
EAEZ5093032,
E4E35093093.
BA5350930594,

Question Number

(a)-(u1); (b)-(11); (e)-(v); (d)-(1)
(a)-(11); (b)—~u1); (e)~(1); (D)-(1v)
(a)—(11); (b)~u1); (e)-(v); (d)—(1)
(a)-(1); (b)-11); (¢)—1v); (d)~(u11)

[ N

1 139 Question Id : 64635025247 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O



-1 @ 11 ¥ gaferd oifor -
a1 eI

( Tada T ()
(a) UEHGH (i) 3T T
by (ii) H U
() HAR (i)  PAlCH
(d) SRR (iv) &
feu e fyeedl A 9 981 IR &1 997 S -

L. (a)-(ui); (b)-(1); (0)-(v); (D))
2. (a)y-); (b)(u); (¢)-(1); (d)-av)
3. (a)-); (0)-); (©)-Gv); ()L
4. (a)-Q); (B-w); (o)1v); (d)—u)

Options:

64535099091, 1
64535033032, 2
64535033033, 2
4535099094, 4

Question Number : 140 Question Id : 64635025248 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with List—II :

List—I

(Location of Ancient
Spa Resort)

(a) Baden-Baden
(b) Vichy
(¢) Karlsbad

(dy Pompeii

)
(i)
(111)
(iv)

List-II

(Country in which
spa resort was located)

France
Germany
Italy

Czech Republic

Choose the correct option from those given below :

[

Options:

64535093095, 1
4535099096, 2
E4535099097. 5
64535099098, 4

(a)—1); (b)(1); (e)-{av); (d)(1i1)
2. (a)-; (~); (o)); (d)-(v)
3. (a)y-(u); (B-i); ()-(v); (d)-D)
4. (a)-(v); (0)-(); (o)), (D)—11)

.oy

Question Number : 140 Question Id : 64635025248 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



a1 &I gdi-11 ¥ gafera sifen
-1 -1

(O T R (T8 &% el <
afRufay feaiic amfRud )
(a) weA-d8A i  wH
(b) faf (i) o
(c) SIEaG Gii)y  gcolt
(d) ufrdeh (iv) e TR
fou T et © I UEt IR 1997 B

L. (@-); ()-1); (©-v); (d)1)
(a)-(1); (b)~w); (e)—(m); (d)-(v)
(a)-(); (b)-(u); (c)}-(v); (d)—1)
(a)-(v); (0)-Q); (c)-(u1); (d)—-(11)

o B 2

Options:

4535092035,
64535093096,
64535093097,
64535093033,

b LI P

Question Number : 141 Question 1d : 64635025249 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who has received the Hall of Fame Award for the contribution to the tourism and
hospitality industry from the IATO in 2017?

1. J. K. Mohanty

2. Suresh Periwal

3. R. H.Khwaja

4. P. Mohammad Ali

Options:
64535099099, 1
64535039100, 2

64535093101, 2



E4E350939102. 4

Question Number : 141 Question Id : 64635025249 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g¥ 2017 # feg= ong. v & ot | vder o fafy-gpR I # e & fore ‘gid 3fe
B QTR U fear?

1. 9. & A=t
2. Jofam
3. 3R U9 GETel

4. Y. A Il
Options:

E4E350930943. 1
E4E35093100. 2
64535093101, =
64535093102, 4

Question Number : 142 Question 1d : 64635025250 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Match List—I with List—II :

List-1 List-II
(Travel Orgamzation) (Year of Establishment)
(a) Make My Trip (1) 1982
(b) Mercury Travels (i) 1867
(¢) Yatra.com (i) 2006
(d) Balmer Lawrie (iv) 2000

Choose the correct option from those given below :
L. (a-); (b)—1); (e){iv); (d)11)
2. (a)-v); (B)-Q); (c)~(u1); (d)—(11)
3. (a)-@); (b)-(1); ()-®); (d)-Gv)
4. (@-@); Miv); ()—); (d)ii)

Options:



E4E35099103. 1
64535093104, 2
64535093105, 3
64535093106, 4

Question Number : 142 Question Id : 64635025250 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

-1 &1 gei-11 ¥ gefera Sifom
a1 Tl

(3T HT5) (RUTCrT &)
(a) ABARICY (i 1982
(b) W LA (i) 1867
(c) TASICHH (iii)) 2006
(d) sFERaR (iv) 2000
feu U faeped & F It IR @1 TEE BT
1. (a)-(); (b)) ()-(wv); (d)-(m)
2. (a)v); (b)) (o)-(u); (A1)
3. (aHiil), (Di); (-D); ()-{v)
4. () (b)H1v); (e)-(ii); (d)-ii)

Options:

64535099103, 1
645350393104, 2
64835099105 =2
4535099106, 4

Question Number : 143 Question Id : 64635025251 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange Pacific Asia Travel Association’s breakthrough events in a sequence they
occurred :

(a) Green Leaf Programme fo incorporate CERT (Code for Environmentally
Responsible Tourism)

(b) Establishment of first PATA chapter in New Zealand and Hong Kong
(¢) Consumer campaign to convince the American Public to the Pacific Area Region
(d) Adoption of new name PATA (Pacific Area Travel Association)
Select the correct option :
L. (d),(c), (b), (a)
2. (a),(b).(c). (@
3. (b),(e),(d),(a)
4. (0), (b),(a), (@

Options:

4535099107, 1
64535099108, 2
64535033109, =
64535039110, 4

Question Number : 143 Question 1d : 64635025251 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(b) goitaus 3R g & § vgd 0. ©. €. U orear &t oA
(c) UfRhithe Ui IoF & fore Smfte! S an @& THe= & fog SuHie @M
() Twam Q@ U v (O thar caa taiRues) &1 sified &1
I8 R =
1. (d), (), (b), (@
2. (@, () ()@
3. (b),(c),(d), (@)
4. (0), (b), (a), (D

Options:

E4E835099107.
4535099108,
4535099109,
64535099110,

[

Question Number : 144 Question Id : 64635025252 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Passport remains the property of
1.  the country being visited
2. the holder/bearer of the passport
3. theissuing authornty

4.  the travel company through which travel 1s made

Options:

64635099111, 1
64535099112, 2
64535039113 =
64535039114 4

Question Number : 144 Question 1d : 64635025252 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

T gt Sty 9+t gt 22
. fHIwAMEIIITH
2. UNUR YRS &t

3. SRied witerRl B
4. T ST S oEs "y A g

Options:
64535099111, 1

E4E35099112. 2
E4E35099113. 3
64535093114, 4

Question Number : 145 Question Id : 64635025253 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match List—I with List—II :

List-I List-II
(Year of (Name of Association)
Establishment)
(a) 1931 (1) International Hotels and Restaurants
Association

(by 1997 (11)  American Society of Travel Advisors
(¢) 1975 (111)  Pacific Asia Travel Association
(d) 1951 (1v)  Crnuse Lines International Association

Choose the correct option from those given below :
1. (&), (by-u); (D) (d)-Gv)
2. (a)-(i1); (b)-v); (e)-i); (d)—(1)
3. (&) (b)-@); (e)iv); (d)-(iiD)
4. (a)-v); (b)-(u); (c)-); (D)-1)
Options:

E4E35099115. 1
B4535093116. 2



E4E35099117. 3
645350931158, 4

Question Number : 145 Question Id : 64635025253 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

eI &1 G-I 9 gefea sifen

-1 -1
( TUTOT &1 a8} (ORI &1 7,

(a) 1931 i) ScHTHFd gcd Uos YRwd
[ESIE )

(b) 1997 i) e Garsd e Cad Ugarsert
(¢) 1975 (i)  Offre o Saa TEifeRE
(@) 1951 (iv) B9 B TR UHIRTEH
fou U faweul | 9 95 IR 1 997 BT
L. (a)-(i); (b)id); (¢)-(1); (d)—1v)

2. (a)y-(u); (b)-Qv); (c)-(); (d)—1)
3. (a-@); (D)-W; (©-v); (d)-m)
4. (a)-(v); (b)-(iii); (e)-(1); (d)—1)

Options:

64535099115, 1
64535039116, 2
64535039117, 2
64835099118 4

Sub-Section Number: 4
Sub-Section 1d: 6463501243
Question Shuffling Allowed : Yes

Question Id : 64635025254 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuestion Label © Comprehension



Located in the heart of the continent and surrounded by vast areas of low quality of grazing
land and deserts, Alice Springs with a population of 25,000, has emerged as a major centre
for desert tourism with less than 300 mm rainfall annually and average summer day time
temperature of up to 38 °C and in winter the night temperature may fall to — 5 °C.

Established in 1871 on the site for a telegraph relay station that linked Australia with Europe,
the desert tour was known for camel trains for surrounding mimng and pastoral industries
with the opening of a railway line from South Australia in 1929. The bombing of Darwin to
the north in 1942 by Japanese imperial forces resulted in shifting the location to Alice
Springs. The north-south highway opened access to Alice Springs.

The buildings, artefacts and storage of the diverse groups of settlers like Arrernte Aboriginal
German Missionaries, Afghan camel drivers, pastoralist, miners constitute the cultural and
built heritage of the town.

Self-drive tourists are less motivated to dnive to Alice Springs for its long distance from
Australian cities and few quality attractions enroute to the desert town. In 1984 the
establishment of a resort and opening of jet airport at Uluru resulted in the increase of tourist
footfall to the destination.

Connectivity and infrastructure, like airport, have been improved due to the establishment of
an Australian-US joint Defense Satellite monitoring base as Pine Gap, 19 km south Alice
Springs. Although developments of Uluru deprived Alice Springs of a major attraction.
Preservation of heritage sites and development of built attractions could attract approximately
4,62,000 tourists in 2005 with contribution of Aus $ 250 million to the local economy. All
attractions in Alice Springs comprise built heritage, indigenous culture and heritage, desert
landscapes, desert flora and fauna and a casino would lengthen an average stay of 4 days.
Uluru as a competing or alternative destination could not dominate Alice Springs as a tourist
destination and most of the organized tours got started from Alice Springs. With the growing
number of tourist arrivals the dessert town could witness major makeover of old buildings
and developments of Desert Park Environment Centre for featuring flora and fauna, building
of a Casino and convention centre.

Over the years Alice Springs, has occupied an important peripheral position for self-drive
tourists. Very interestingly Alice Springs is not competing with other destination including
Uluwru and Kata Tyuta (the olgas) in Australia base flying distance and price since flying time
1s 3 hours from Sydney. The development of a range of attractions and easy access by air has
reduced the impact of peripherality for a significant of tourists. Based on the total number of
visitors and the revenue they generate, Alice Springs can be considered as a successful
peripheral tourism attraction, for active participation of the commumnity, resource allocation
for developing attraction through investment and wide range of tourism attractions to attract
their attention for an average stay of 4 days in comparison to Uluru as an internationally
unique aftraction as a lower length of stay because of the narrowness of ifs attraction base.



Sub questions

Question Number : 146 Question Id : 64635025255 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Given below are two statements—one labelled as Assertion (A) and other Reason (R) :

Assertion (A) : Drive tourists constitute the majority of Australian domestic tourists
and Alice Springs does occupy a peripheral position.

Reason (R) . The distance of Alice Springs from Australia’s major-population
centre has always been a major disincentive for many self-drive
tourists and the range and quality of attractions during the drive is
too small to encourage large-scale drive tourism.

Choose the answer from the options given below :
1. Both (A) and (R) are correct and (R) is the correct explanation of (A)
2. Both (A) and (R) are correct but (R) is not the correct explanation of (A)
3. (A)is correct but (R) is incorrect
4.  (A)isincorrect but (R) is correct
Options:
64635099119,
64635099120,

E4E35099121.
EAE35099122.

o LIPS

Question Number : 147 Question Id : 64635025256 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the ultimate outcome of Alice Springs after being developed tourism
destination?

1. Establishment of facilities and amenities
2. Reduction of road distance
3. Development of built heritage

4. Enhancement of average length of stay (4 days)



Options:

64535099123, 1
4835099124 2
4535099125 2
64535099126, 4

Question Number : 148 Question Id : 64635025257 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange the following in a sequential order :
(a) Establishment of a Casino and Convention Centre
(b) Opening of a rail line
(¢) The bombing of Darwin to the North
(d) Establishment of telegraph relay station
Select the correct options :

(a), (b), (), (d)

2. (a),(d),(b), ()

3. (0),(d),(a), (D)

4. (d), (b), (c), (@

=)

Options:

64535099127, 1
4835099128 2
4535099129 2
64535029120, 4

Question Number : 149 Question Id : 64635025258 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What was the major constraint for self-drive tourists to visit Alice Springs?
1. Safety
2. Facilities
3.  Affractions

4.  Distance

Options:
64535099151, 1

E4E35099132. 2
E4E35099123. 3
64535093124, 4

Question Number : 150 Question Id : 64635025259 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following were NOT early settlers in Alice Springs?
1. German Missionaries
2. Pastoralists
3.  Mongolia camel drivers

4. Miners

Options:

64535099135, 1
64535033136, 2
64835099127, 2
64535099128, 4

Question Id : 64635025254 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 146 Question Id : 64635025255 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535099119, 1
E4E35099120. 2
4535099121, 2
64535029122, 4

Question Number : 147 Question Id : 64635025256 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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2. 9SS HM A HHH
3. iHd wRigsi &1 faer
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Options:

64535099123, 1
64535099124, 2
64535039125 2
64535039126, 4

Question Number : 148 Question 1d : 64635025257 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frofafed &t HHHaR 3 @ ;
(a) IR SR ST H5 B R
(by @ T DI WAl ST
(c) STfd" & IR H AR
(d) <o e 2= SR
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. (), (b), (c), (@)

2. (a),(d),(b), (0)

3. (0),(d), (a), b)

4. (), ®), (e), (@)

Options:

64535099127, 1
64535039128, 2
64535039129, 2
E4E35099120. 4

Question Number : 149 Question Id : 64635025258 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ufery R8I = 3= a1g- @ o aret Udess! & forg we aen & off?

1. e
2. gfaw
3. SmHNu
4. Q&

Options:

64535099131, 1
64535039132, 2
64535039133 2
E4E35099124. 4

Question Number : 150 Question Id : 64635025259 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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2. URERS

3. HfeEE $e 9de
4.  GHb

Options:

64535099135, 1
64535099126, 2
64535099127, 5
64535039138, 4



